# **BEAVER CR HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead			
Run:	Summer	Egg Take		
Stock:	SKAMANIA HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	33,500	1,340
Integrated/Segregated:	SEGREGATED	Planted	30,000	5,455

# **Estimated Brood Data**

```
Egg Take Goal
```

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	11/2024	11/2024	SKAMANIA HATCHERY	33,500	25.0	1,340	JUVENILE

# **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	30,000	5.5	5,455	JUVENILE	BEAVER CR RELEASES 25.0247	AD	

# **BEAVER CR HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTHWEST WASHINGTON / LOWER COL

Brood Year: Species: Run: Stock: Brood Origin: Integrated/Segregated:	2024 Steelhead Winter BEAVER CR HATCHERY HATCHERY SEGREGATED		Egg Take Shipping Received Planted	<b>Total #</b> 130,000	Total Pounds
Estimated Brood Dat Egg Take Goal	<u>a</u>				
Estimated Transfer D Shipped or Received St	<u>ata</u> art Date End Date Facility	Number	FPP	Total Pounds	Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	130,000	5.5	23,636	JUVENILE	BEAVER CR RELEASES 25.0247	AD	

# **BEAVER CR HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead			
Run:	Summer	Egg Take		
Stock:	SKAMANIA HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	33,500	1,340
Integrated/Segregated:	SEGREGATED	Planted	30,000	5,455

# **Estimated Brood Data**

```
Egg Take Goal
```

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	11/2025	11/2025	SKAMANIA HATCHERY	33,500	25.0	1,340	JUVENILE

# **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	30,000	5.5	5,455	JUVENILE	BEAVER CR RELEASES 25.0247	AD	

# **BEAVER CR HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2025			Total #	Total Pounds
Species:	Steelhead	F	gg Take	300,000	
Run:	Winter			300,000	
Stock:	BEAVER CR HATCHERY	S	hipping		
Brood Origin:	HATCHERY	R	Received		
Integrated/Segregated:	SEGREGATED	Ρ	lanted	130,000	23,636
Estimated Brood Dat	<u>a</u>				
Egg Take Goal 300	,000				
Estimated Transfer D	ata				
Shipped or Received St	art Date End Date Facility	Number	FPP	Total Pounds	Life Stage

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	130,000	5.5	23,636	JUVENILE	BEAVER CR RELEASES 25.0247	AD	

# **BINGHAM CR HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024 Staallaard				Total #	Total Pounds
Species:	Steelhead			Egg Take		
Run: Stock:	Winter-Late SATSOP R 22.0360			Shipping		
Brood Origin:	MIXED			Received		
Integrated/Segregated:	INTEGRATED			Planted	55,000	11,000
Estimated Brood Dat	<u>a</u>			L		
Egg Take Goal						
Estimated Transfer D	ata					
Shipped or Received St	art Date End Date Fa	acility	Number	FPP	Total Pounds	Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	55,000	5.0	11,000	JUVENILE	SATSOP R -EF 22.0360	AD	

Memo: Program implementation is dependent on legal authority and funding. Excess fish into Satsop River EF

## **BINGHAM CR HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Species:SteelheadEgg Take110,000Run:Winter-LateEgg Take110,000Stock:SATSOP R22.0360ShippingBrood Origin:MIXEDReceivedReceivedIntegrated/Segregated:INTEGRATEDPlanted55,0007,857Estimated Brood DataEgg Take Goal110,000Integrated/SegregateStock:Stock:Estimated Transfer DataStock:Stock:Stock:Stock:Stock:Stock:Stimated Transfer DataStock:Stock:Stock:Stock:Stock:Stock:		Total # Total Pound
Kun:Winter-LateStock:SATSOP R 22.0360Brood Origin:MIXEDIntegrated/Segregated:INTEGRATEDIntegrated Brood DataEstimated Brood DataEgg Take Goal110.00		Fgg Take 110.000
Brood Origin: MIXED Received Planted 55,000 7,857   Estimated Brood Data Integrake Goal 110,00		
Integrated/Segregated:   INTEGRATED   Planted   55,000   7,857     Estimated Brood Data   Integrated Brood Data   Integrated Brood Data   Integrated Brood Data   Integrated Brood Data     Egg Take Goal   110,000   Integrated Brood Data   Integrated Brood Data   Integrated Brood Data	360	Shipping
Estimated Brood Data Egg Take Goal 110,000		Received
Egg Take Goal 110,000		Planted 55,000 7,857
Estimated Transfer Data		
Shipped or Received Start Date End Date Facility Number FPP Total Pounds Life Stag	te Facility	Number FPP Total Pounds Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	55,000	7.0	7,857	JUVENILE	SATSOP R -EF 22.0360	AD	

Memo: Program implementation is dependent on legal authority and funding. Excess fish into Satsop River EF

# **BOGACHIEL HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024			Total #	Total Pounds
Species:	Steelhead		Faa Taka		
Run:	Summer		Egg Take		
Stock:	BOGACHIEL HATCHERY		Shipping		
Brood Origin:	HATCHERY		Received		
Integrated/Segregated:	SEGREGATED		Planted	30,000	5,000
Estimated Brood Dat	<u>a</u>				
Egg Take Goal					
Estimated Transfer D	ata				
	art Date End Date Facility	Number	FPP	Total Pounds	Life Stage

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	30,000	6.0	5,000	JUVENILE	CALAWAH R 20.0175	AD	

Memo: Program implementation is dependent on legal authority and funding. Eggs taken mid-November thru December. 100% Sample.

# **BOGACHIEL HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024 Storally and		Total #	Total Pounds
Species: Run:	Steelhead Winter	Egg Ta	ke	
Stock:	BOGACHIEL HATCHERY	Shippi	ng	
Brood Origin:	HATCHERY	Receiv	ed	
Integrated/Segregated:	SEGREGATED	Plante	d 150,000	25,000
Estimated Brood Dat	<u>a</u>		I	
Egg Take Goal				
Estimated Transfer D	ata			
Shipped or Received St	art Date End Date Facility	Number F	PP Total Pounds	Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	100,000	6.0	16,667	JUVENILE	BOGACHIEL R 20.0162	AD	
04/2025	04/2025	50,000	6.0	8,333	JUVENILE	CALAWAH R 20.0175	AD	

Memo: Program implementation is dependent on legal authority and funding. Cooperative with Quileute Tribe. Backfill Chalaat Creek Hatchery with eyed eggs if needed.

# **BOGACHIEL HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025			Total #	Total Pounds
Species:	Steelhead		Egg Take	60,000	
Run:	Summer			00,000	
Stock:	BOGACHIEL HATCHERY		Shipping		
Brood Origin:	HATCHERY		Received		
Integrated/Segregated:	SEGREGATED		Planted	30,000	5,000
Estimated Brood Data	<u>a</u>				
Egg Take Goal 60,0	00				
Estimated Transfer D	ata				
Shipped or Received Sta	art Date End Date Facility	Number	FPP	Total Pounds	Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	30,000	6.0	5,000	JUVENILE	CALAWAH R 20.0175	AD	

Memo: Program implementation is dependent on legal authority and funding. Eggs taken mid-November thru December. 100% Sample.

# **BOGACHIEL HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead	Fee Take		
Run:	Winter	Egg Take	275,000	
Stock:	BOGACHIEL HATCHERY	Shipping	100,000	0
Brood Origin:	HATCHERY	Received	80,000	533
Integrated/Segregated:	SEGREGATED	Planted	150,000	25,000

#### **Estimated Brood Data**

Egg Take Goal 275,000

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	02/2025	02/2025	LONESOME CR HATCHERY	100,000		0	EGGS EYED
Received	07/2025	07/2025	LONESOME CR HATCHERY	80,000	150.0	533	JUVENILE

# **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	100,000	6.0	16,667	JUVENILE	BOGACHIEL R 20.0162	AD	
04/2026	04/2026	50,000	6.0	8,333	JUVENILE	CALAWAH R 20.0175	AD	

Memo: Program implementation is dependent on legal authority and funding. Cooperative with Quileute Tribe. Backfill Chalaat Creek Hatchery with eyed eggs if needed.

# CARLISLE LK PROJECT

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead	с т.		Total Founds
Run:	Winter-Late	Egg Take		
Stock:	SKOOKUMCHUCK 23.0761	Shipping		
Brood Origin:	MIXED	Received	35,000	0
Integrated/Segregated:	INTEGRATED	Planted	30,000	3,000

# **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	02/2024	02/2024	SKOOKUMCHUCK HATCHERY	35,000		0	EGGS EYED

# **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	30,000	10.0	3,000	JUVENILE	GHEER CR 23.0913	AD	

# CARLISLE LK PROJECT

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead			. otari ounus
Run:	Winter-Late	Egg Take		
Stock:	SKOOKUMCHUCK 23.0761	Shipping		
Brood Origin:	MIXED	Received	35,000	0
Integrated/Segregated:	INTEGRATED	Planted	30,000	3,000

# **Estimated Brood Data**

```
Egg Take Goal
```

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	02/2025	02/2025	SKOOKUMCHUCK HATCHERY	35,000		0	EGGS EYED

# **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	30,000	10.0	3,000	JUVENILE	GHEER CR 23.0913	AD	

# CHALAAT CR HATCHERY

#### HOH TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

<b>•</b> •				Total #	Total Pounds
Species: St	teelhead		- Talva		
Run: W	/inter	Egi	g Take		
Stock: CH	HALAAT CR HATCHERY	Shi	pping		
Brood Origin: H/	ATCHERY	Re	ceived		
Integrated/Segregated: SE	EGREGATED	Pla	nted	100,000	14,286
Estimated Brood Data					
Egg Take Goal					

Shipped or Received Start Date End Date	Facility	Number F	FPP	<b>Total Pounds</b>	Life Stage	
---	----------	----------	-----	---------------------	------------	--

# **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	05/2025	90,000	7.0	12,857	JUVENILE	CHALAAT CR 20.0423	AD	
04/2025	05/2025	10,000	7.0	1,429	JUVENILE	CHALAAT CR 20.0423	AD	$\checkmark$

Memo:

# **CHELAN HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH CENTRAL WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead	c		
Run:	Summer	Egg Take		
Stock:	WENATCHEE R 45.0030	Shipping	150,000	7,500
Brood Origin:	WILD	Received		
Integrated/Segregated:	INTEGRATED	Planted		

# **Estimated Brood Data**

Egg Take Goal

# Estimated Transfer Data

00 JUVENILE	
/lark Type Tagge	gged
Γ	Mark Type Tag

# **CHELAN HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH CENTRAL WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead	Can Taka		
Run:	Summer	Egg Take		
Stock:	WENATCHEE R 45.0030	Shipping	150,000	7,500
Brood Origin:	WILD	Received	138,641	0
Integrated/Segregated:	INTEGRATED	Planted		

# **Estimated Brood Data**

Egg Take Goal

# Estimated Transfer Data

	Start Date	End Date	Facility			Number	FPP	Total Pounds	Life Stage
Received	04/2025	04/2025	EASTBA	NK HATCHERY		138,641		0	EGGS EYED
Shipped	10/2025	10/2025	CHIWAW	VA HATCHERY		150,000	20.0	7,500	JUVENILE
Estimated Release			-PP	Total Pounds	Life Stage	Release Site		Mark <sup>-</sup>	Гуре Tagged

# **CHELAN PUD HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH CENTRAL WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead	I	lotal li	Total Total of
Run:	Summer	Egg Take		
Stock:	WENATCHEE R 45.0030	Shipping	133,801	9,911
Brood Origin:	WILD	Received		
Integrated/Segregated:	INTEGRATED	Planted		

# **Estimated Brood Data**

Egg Take Goal

# Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility			Number	FPP	<b>Total Pounds</b>	Life Stag	e
Shipped	10/2024	10/2024	CHIWAY	WA HATCHERY		133,801	13.5	9,911	JUVENI	LE
Estimated Release	Data									
Start Date End Dat	e Num Re	lease	FPP	Total Pounds	Life Stage	Release Site		Mark	Гуре	Tagged

# **CHELAN PUD HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH CENTRAL WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead			
Run:	Summer	Egg Take		
Stock:	WENATCHEE R 45.0030	Shipping	133,801	9,911
Brood Origin:	WILD	Received	154,503	0
Integrated/Segregated:	INTEGRATED	Planted		

# **Estimated Brood Data**

Egg Take Goal

# Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility			Number	FPP	Total Pounds	Life Stage	
Received	04/2025	04/2025	EASTI	BANK HATCHERY		154,503		0	EGGS EYED	
Shipped	10/2025	10/2025	CHIW	AWA HATCHERY		133,801	13.5	9,911	JUVENILE	
Estimated Releas		elease	FPP	Total Pounds	Life Stage	Release Site		Mark	Type Tagge	ed

# **CHIWAWA HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH CENTRAL WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead	Fee Tele		
Run:	Summer	Egg Take		
Stock:	WENATCHEE R 45.0030	Shipping		
Brood Origin:	HATCHERY	Received	133,801	9,557
Integrated/Segregated:	SEGREGATED	Planted	117,745	19,624

# **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	11/2024	12/2024	EASTBANK HATCHERY	133,801	14.0	9,557	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	117,745	6.0	19,624	JUVENILE	CHIWAWA R 45.0759	AD	$\checkmark$

# **CHIWAWA HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH CENTRAL WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead	Faa Taka		
Run:	Summer	Egg Take		
Stock:	WENATCHEE R 45.0030	Shipping		
Brood Origin:	WILD	Received	144,000	10,667
Integrated/Segregated:	INTEGRATED	Planted	117,745	19,624

# **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	11/2024	12/2024	CHELAN PUD HATCHERY	144,000	13.5	10,667	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	117,745	6.0	19,624	JUVENILE	CHIWAWA R 45.0759		

Memo: Program implementation is dependent on legal authority and funding. Volitional release only if space is available.

# **CHIWAWA HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH CENTRAL WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead	Coo Toluo		
Run:	Summer	Egg Take		
Stock:	WENATCHEE R 45.0030	Shipping		
Brood Origin:	HATCHERY	Received	133,801	9,557
Integrated/Segregated:	SEGREGATED	Planted	117,745	19,624

# **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	11/2025	12/2025	EASTBANK HATCHERY	133,801	14.0	9,557	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	117,745	6.0	19,624	JUVENILE	CHIWAWA R 45.0759	AD	

# **CHIWAWA HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH CENTRAL WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead	Fee Take		
Run:	Summer	Egg Take		
Stock:	WENATCHEE R 45.0030	Shipping		
Brood Origin:	WILD	Received	144,000	10,667
Integrated/Segregated:	INTEGRATED	Planted	117,745	19,624

# **Estimated Brood Data**

Egg Take Goal

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	11/2025	12/2025	CHELAN PUD HATCHERY	144,000	13.5	10,667	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	117,745	6.0	19,624	JUVENILE	CHIWAWA R 45.0759		

Memo: Program implementation is dependent on legal authority and funding. Volitional release only if space is available.

# COTTONWOOD CR POND

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### EASTERN WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead			Total Total a
Run:	Summer	Egg Take		
Stock:	WALLOWA R	Shipping		
Brood Origin:	HATCHERY	Received	226,000	37,667
Integrated/Segregated:	SEGREGATED	Planted	225,000	49,999

## **Estimated Brood Data**

Egg Take Goal

#### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	02/2025	02/2025	LYONS FERRY HATCHERY	226,000	6.0	37,667	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	17,200	4.5	3,822	JUVENILE	GRAND RONDE R35.2192	AD	$\checkmark$
04/2025	04/2025	6,000	4.5	1,333	JUVENILE	GRAND RONDE R35.2192	AD+PT	$\checkmark$
04/2025	04/2025	201,800	4.5	44,844	JUVENILE	GRAND RONDE R35.2192	AD	

# COTTONWOOD CR POND

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead	Fee Teles		
Run:	Summer	Egg Take	500,000	
Stock:	WALLOWA R	Shipping	450,000	0
Brood Origin:	HATCHERY	Received	226,000	37,667
Integrated/Segregated:	SEGREGATED	Planted	225,000	49,999

## **Estimated Brood Data**

Egg Take Goal 500,000

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	03/2025	04/2025	LYONS FERRY HATCHERY	450,000		0	EGGS GREEN
Received	02/2026	02/2026	LYONS FERRY HATCHERY	226,000	6.0	37,667	JUVENILE

# **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	17,200	4.5	3,822	JUVENILE	GRAND RONDE R35.2192	AD	$\checkmark$
04/2026	04/2026	6,000	4.5	1,333	JUVENILE	GRAND RONDE R35.2192	AD+PT	$\checkmark$
04/2026	04/2026	201,800	4.5	44,844	JUVENILE	GRAND RONDE R35.2192	AD	

## **COWLITZ TROUT HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2024				Total #	Total Pounds
Species:	Steelhead			Egg Take		
Run:	Summer					
Stock:	COWLITZ SAL HATCHERY		Shipping			
Brood Origin:	HATCHERY		Received			
Integrated/Segregated:	SEGREGATED			Planted	650,000	118,182
Estimated Brood Dat	<u>a</u>					
Egg Take Goal						
Estimated Transfer D	ata					
Shipped or Received St	art Date End Date	Facility	Number	FPP	Total Pounds	Life Stage

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	05/2025	650,000	5.5	118,182	JUVENILE	COWLITZ R 26.0002	AD	

## **COWLITZ TROUT HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

### SOUTHWEST WASHINGTON / LOWER COL

Brood Year: Species: Run: Stock: Brood Origin: Integrated/Segregated:	2024 Steelhead Winter-Late COWLITZ R -LOWER MIXED INTEGRATED			Egg Take Shipping Received Planted	<b>Total #</b> 308,500	Total Pounds
Estimated Brood Data Egg Take Goal	<u>a</u>					
Estimated Transfer D	ata					
Shipped or Received Sta	art Date End Date	Facility	Number	FPP	Total Pounds	Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	05/2025	308,500	7.0	44,071	JUVENILE	COWLITZ R 26.0002	AD	

Memo: Program implementation is dependent on legal authority and funding. Release 4/1 to 5/15. Fish excess to program goals will be plantd to non-anadromous waters.

## **COWLITZ TROUT HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2024			Total #	Total Pounds
Species:	Steelhead		Care Talua		
Run:	Winter-Late		Egg Take		
Stock:	COWLITZ R -UPPER		Shipping		
Brood Origin:	MIXED		Received		
Integrated/Segregated:	INTEGRATED		Planted	236,000	33,714
Estimated Brood Data	<u>a</u>		<u></u>		
Egg Take Goal					
Estimated Transfer D	ata				
Shipped or Received St	art Date End Date Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped or Received Sta	art Date End Date Facility	Number	FPP	Total Pounds	Life Stage

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	05/2025	236,000	7.0	33,714	JUVENILE	COWLITZ R 26.0002	AD	

## **COWLITZ TROUT HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTHWEST WASHINGTON / LOWER COL

	art Date End Date	Facility	Numbe	r FPP	Total Pounds	Life Stage
Estimated Transfer Da	ata					
Egg Take Goal						
Estimated Brood Data	<u>1</u>					
Integrated/Segregated:	INTEGRATED			Planted	100,000	14,286
Brood Origin:	MIXED			Received		
Stock:	TILTON R 26.0560			Shipping		
Run:	Winter-Late			Egg Take		
Species:	Steelhead				Total #	Total Pounds
Brood Year:	2024				<b>T</b> 1 1 1	<b>T</b> . 10 1

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	05/2025	100,000	7.0	14,286	JUVENILE	COWLITZ R 26.0002	AD+LV	

## **COWLITZ TROUT HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2025			Total #	Total Pounds
Species:	Steelhead		Egg Take	884,000	
Run:	Summer			884,000	
Stock:	COWLITZ SAL HATCHERY		Shipping		
Brood Origin:	HATCHERY		Received		
Integrated/Segregated:	SEGREGATED		Planted	650,000	118,182
Estimated Brood Dat	<u>a</u>				
Egg Take Goal 884	,000				
Estimated Transfer D	<u>ata</u>				
Shipped or Received St	art Date End Date Facility	Number	FPP	Total Pounds	Life Stage

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	05/2026	650,000	5.5	118,182	JUVENILE	COWLITZ R 26.0002	AD	

## **COWLITZ TROUT HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

### SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2025 Steelbeed			Total #	Total Pounds
Species:	Steelhead	Eg	gg Take	734,000	
Run:	Winter-Late			,	
Stock:	COWLITZ R -LOWER	Sr	nipping		
Brood Origin:	MIXED	Re	eceived		
Integrated/Segregated:	INTEGRATED	PI	anted	308,500	44,071
Estimated Brood Dat	<u>1</u>				
Egg Take Goal 734	000				
Estimated Transfer D	<u>ata</u>				
Shipped or Received St	art Date End Date Facility	Number	FPP	Total Pounds	Life Stage

# **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	05/2026	308,500	7.0	44,071	JUVENILE	COWLITZ R 26.0002	AD	

Memo: Program implementation is dependent on legal authority and funding. Release 4/1 to 5/15. Fish excess to program goals will be plantd to non-anadromous waters.

## **COWLITZ TROUT HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2025				Total #	Total Pounds
Species:	Steelhead			Egg Take	326,300	
Run:	Winter-Late				320,300	
Stock:	COWLITZ R -UPPER			Shipping		
Brood Origin:	MIXED			Received		
Integrated/Segregated:	INTEGRATED			Planted	236,000	33,714
Estimated Brood Dat	<u>a</u>					
Egg Take Goal 326	,300					
Estimated Transfer D	ata					
Shipped or Received St	art Date End Date	Facility	Number	FPP	Total Pounds	Life Stage

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	05/2026	236,000	7.0	33,714	JUVENILE	COWLITZ R 26.0002	AD	

## **COWLITZ TROUT HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTHWEST WASHINGTON / LOWER COL

Integrated/Segregated: INTEGRATED Planted 100,000 14,286	Run: Stock:	Winter-Late TILTON R 26.0560		Shipping		
Estimated Brood Data	Brood Origin: Integrated/Segregated:	MIXED INTEGRATED		Received Planted	100,000	14,286
Estimated Transfer Data	Estimated Transfer D					

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	05/2026	100,000	7.0	14,286	JUVENILE	COWLITZ R 26.0002	AD+LV	

# CURL LK ACCLIMA. PD

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### EASTERN WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead			Total Total
Run:	Summer	Egg Take		
Stock:	TUCANNON R 35.0009	Shipping		
Brood Origin:	MIXED	Received	50,000	11,111
Integrated/Segregated:	INTEGRATED	Planted	50,000	11,111

# **Estimated Brood Data**

Egg Take Goal

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	04/2025	04/2025	LYONS FERRY HATCHERY	50,000	4.5	11,111	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	42,500	4.5	9,444	JUVENILE	TUCANNON R 35.0009		
04/2025	04/2025	7,500	4.5	1,667	JUVENILE	TUCANNON R 35.0009	РТ	$\checkmark$

# CURL LK ACCLIMA. PD

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead	с т.		Total Total
Run:	Summer	Egg Take		
Stock:	TUCANNON R 35.0009	Shipping		
Brood Origin:	MIXED	Received	50,000	11,111
Integrated/Segregated:	INTEGRATED	Planted	50,000	11,111

# **Estimated Brood Data**

Egg Take Goal

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	04/2026	04/2026	LYONS FERRY HATCHERY	50,000	4.5	11,111	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	42,500	4.5	9,444	JUVENILE	TUCANNON R 35.0009		
04/2026	04/2026	7,500	4.5	1,667	JUVENILE	TUCANNON R 35.0009	РТ	$\checkmark$

## DAYTON ACCLIMA. POND

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### EASTERN WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead	с т.		Total Total
Run:	Summer	Egg Take		
Stock:	TOUCHET R -ENDEMIC	Shipping		
Brood Origin:	MIXED	Received	50,000	11,111
Integrated/Segregated:	INTEGRATED	Planted	50,000	11,111

# **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	04/2025	04/2025	LYONS FERRY HATCHERY	50,000	4.5	11,111	JUVENILE

# **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	45,000	4.5	10,000	JUVENILE	TOUCHET R 32.0097		
04/2025	04/2025	5,000	4.5	1,111	JUVENILE	TOUCHET R 32.0097	РТ	$\checkmark$

## DAYTON ACCLIMA. POND

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### EASTERN WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead			lotari ounus
Run:	Summer	Egg Take		
Stock:	WALLOWA R	Shipping		
Brood Origin:	HATCHERY	Received	101,000	16,833
Integrated/Segregated:	SEGREGATED	Planted	100,000	22,222

# **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	03/2025	03/2025	LYONS FERRY HATCHERY	101,000	6.0	16,833	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	7,400	4.5	1,644	JUVENILE	TOUCHET R 32.0097	AD	
04/2025	04/2025	3,000	4.5	667	JUVENILE	TOUCHET R 32.0097	AD+PT	$\checkmark$
04/2025	04/2025	89,600	4.5	19,911	JUVENILE	TOUCHET R 32.0097	AD	

## DAYTON ACCLIMA. POND

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead	I		Total Total a
Run:	Summer	Egg Take		
Stock:	TOUCHET R -ENDEMIC	Shipping		
Brood Origin:	MIXED	Received	50,000	11,111
Integrated/Segregated:	INTEGRATED	Planted	50,000	11,111

# **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	04/2026	04/2026	LYONS FERRY HATCHERY	50,000	4.5	11,111	JUVENILE

# **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	45,000	4.5	10,000	JUVENILE	TOUCHET R 32.0097		
04/2026	04/2026	5,000	4.5	1,111	JUVENILE	TOUCHET R 32.0097	PT	$\checkmark$

## DAYTON ACCLIMA. POND

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead	I		Total Total
Run:	Summer	Egg Take		
Stock:	WALLOWA R	Shipping		
Brood Origin:	HATCHERY	Received	101,000	16,833
Integrated/Segregated:	SEGREGATED	Planted	100,000	22,222

## Estimated Brood Data

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	03/2026	03/2026	LYONS FERRY HATCHERY	101,000	6.0	16,833	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	7,400	4.5	1,644	JUVENILE	TOUCHET R 32.0097	AD	
04/2026	04/2026	3,000	4.5	667	JUVENILE	TOUCHET R 32.0097	AD+PT	$\checkmark$
04/2026	04/2026	89,600	4.5	19,911	JUVENILE	TOUCHET R 32.0097	AD	

## **DUNGENESS HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead	- <b>-</b> 1		1010110001100
Run:	Winter	Egg Take		
Stock:	DUNGENESS HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	10,500	1,750
Integrated/Segregated:	SEGREGATED	Planted	10,000	2,000

### Estimated Brood Data

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2025	02/2025	HURD CR HATCHERY	10,500	6.0	1,750	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	06/2025	10,000	5.0	2,000	JUVENILE	DUNGENESS R 18.0018	AD	

Memo: Program implementation is dependent on legal authority and funding. Volitional release begins May 1st contingent on legal authority and funding.

## **DUNGENESS HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

### COASTAL / PUGET SOUND / HOOD CANAL

		Total #	Total Pounds
Species: Steelhead			
Run: Winter	Egg Take	50,000	
Stock: DUNGENESS HATC	ERY Shipping	50,000	0
Brood Origin: HATCHERY	Received	10,500	1,750
Integrated/Segregated: SEGREGATED	Planted	10,000	2,000

### **Estimated Brood Data**

Egg Take Goal 50,000

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	02/2025	02/2025	HURD CR HATCHERY	50,000		0	EGGS GREEN
Received	01/2026	02/2026	HURD CR HATCHERY	10,500	6.0	1,750	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2026	06/2026	10,000	5.0	2,000	JUVENILE	DUNGENESS R 18.0018	AD	

Memo: Program implementation is dependent on legal authority and funding. Volitional release begins May 1st contingent on legal authority and funding.

## EASTBANK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH CENTRAL WASHINGTON

Species: Steelhead Total #   Run: Summer Egg Take	Total Pounds
Run: Summer Egg Take	
Summer Summer	
Stock: WENATCHEE R 45.0030 Shipping 140,000	10,000
Brood Origin: HATCHERY Received	
Integrated/Segregated: SEGREGATED Planted	

## Estimated Brood Data

Egg Take Goal

## Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility			Number	FPP	Total Pounds	Life Sta	ge
Shipped	11/2024	12/2024	CHIWAY	WA HATCHERY		140,000	14.0	10,000	JUVEN	IILE
Estimated Release	Data									
Start Date End Dat		lease	FPP	Total Pounds	Life Stage	Release Site		Mark	Гуре	Tagged

## EASTBANK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH CENTRAL WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead	Faa Taka		
Run:	Summer	Egg Take	146,610	
Stock:	WENATCHEE R 45.0030	Shipping	133,801	9,557
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:	SEGREGATED	Planted		
Estimated Brood Data	<u>a</u>			]

Egg Take Goal 146,610

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility			Number	FPP	Total Pounds	Life Stage	e
Shipped	11/2025	12/2025	CHIWAV	WA HATCHERY		133,801	14.0	9,557	JUVENI	LE
Estimated Release	Estimated Release Data									
Start Date End Dat		lease	FPP	Total Pounds	Life Stage	Release Site		Mark	Гуре	Tagged

## EASTBANK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH CENTRAL WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead			
Run:	Summer	Egg Take	165,838	
Stock:	WENATCHEE R 45.0030	Shipping	154,503	0
Brood Origin:	WILD	Received		
Integrated/Segregated:	INTEGRATED	Planted		

### **Estimated Brood Data**

Egg Take Goal 165,838

### **Estimated Transfer Data**

tart Date End Date	Facility		Number	FPP Total Pounds	Life Stage	
4/2025 04/2025	CHELAN PUD	HATCHERY	154,503	0	EGGS EYED	
ata						
Num Release	FPP Tota	Pounds Life Stage	Release Site	Mark	Гуре Tagged	
)2	4/2025 04/2025 ata	4/2025 04/2025 CHELAN PUD	4/2025 04/2025 CHELAN PUD HATCHERY	4/2025 04/2025 CHELAN PUD HATCHERY 154,503	4/2025 04/2025 CHELAN PUD HATCHERY 154,503 0	

## ECHO NP (LEWIS R-NF)

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead			
Run:	Summer	Egg Take		
Stock:	MERWIN HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	63,000	9,000
Integrated/Segregated:	SEGREGATED	Planted	60,000	10,909

## Estimated Brood Data

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	03/2025	03/2025	MERWIN HATCHERY	63,000	7.0	9,000	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	05/2025	60,000	5.5	10,909	JUVENILE	LEWIS R -NF 27.0168	AD	

## ECHO NP (LEWIS R-NF)

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead			
Run:	Summer	Egg Take		
Stock:	MERWIN HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	63,000	9,000
Integrated/Segregated:	SEGREGATED	Planted	60,000	10,909

## Estimated Brood Data

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	03/2026	03/2026	MERWIN HATCHERY	63,000	7.0	9,000	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	05/2026	60,000	5.5	10,909	JUVENILE	LEWIS R -NF 27.0168	AD	

## EDUCKET CR HATCHERY

#### MAKAH TRIBE

### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead	Fee Take		
Run:	Winter	Egg Take		
Stock:	TSOO-YESS R 20.0015	Shipping		
Brood Origin:	HATCHERY	Received	22,000	3,143
Integrated/Segregated:	SEGREGATED	Planted	22,000	3,667

## **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	04/2025	04/2025	MAKAH NFH ON TSOO-YESS R	22,000	7.0	3,143	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	22,000	6.0	3,667	JUVENILE	EDUCKET CR 20.0010	AD	

Memo:

Tuesday, January 9, 2024

## EDUCKET CR HATCHERY

#### MAKAH TRIBE

### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead	Fee Take		
Run:	Winter	Egg Take		
Stock:	TSOO-YESS R 20.0015	Shipping		
Brood Origin:	HATCHERY	Received	22,000	3,143
Integrated/Segregated:	SEGREGATED	Planted	22,000	3,667

## **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	04/2026	04/2026	MAKAH NFH ON TSOO-YESS R	22,000	7.0	3,143	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2026	05/2026	22,000	6.0	3,667	JUVENILE	EDUCKET CR 20.0010	AD	

Memo:

Tuesday, January 9, 2024

## EIGHT CK/UPR CHEHALI

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead			
Run:	Winter-Late	Egg Take		
Stock:	SKOOKUMCHUCK 23.0761	Shipping		
Brood Origin:	MIXED	Received	33,000	3,667
Integrated/Segregated:	INTEGRATED	Planted	32,000	6,400

## **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	02/2025	02/2025	SKOOKUMCHUCK HATCHERY	33,000	9.0	3,667	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	32,000	5.0	6,400	JUVENILE	EIGHT CR 23.1117	AD	

## EIGHT CK/UPR CHEHALI

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead			Total Founds
Run:	Winter-Late	Egg Take		
Stock:	SKOOKUMCHUCK 23.0761	Shipping		
Brood Origin:	MIXED	Received	33,000	3,667
Integrated/Segregated:	INTEGRATED	Planted	32,000	6,400

## **Estimated Brood Data**

Egg Take Goal

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	02/2026	02/2026	SKOOKUMCHUCK HATCHERY	33,000	9.0	3,667	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	32,000	5.0	6,400	JUVENILE	EIGHT CR 23.1117	AD	

## FALLERT CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead			Total Total a
Run:	Summer	Egg Take		
Stock:	KALAMA R 27.0002	Shipping		
Brood Origin:	WILD	Received	100,000	4,000
Integrated/Segregated:	INTEGRATED	Planted	90,000	16,364

### **Estimated Brood Data**

Egg Take Goal

## Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	11/2024	12/2024	MOSSYROCK HATCHERY	100,000	25.0	4,000	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	05/2025	40,000	5.5	7,273	JUVENILE	KALAMA R 27.0002	AD	
04/2025	05/2025	50,000	5.5	9,091	JUVENILE	KALAMA R 27.0002	AD	$\checkmark$

Memo: Program implementation is dependent on legal authority and funding. Program size will remain constant however transfers from Mossyrock and Kalama may vary annually due to results of fish health testing.

Tuesday, January 9, 2024

## FALLERT CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead			
Run:	Winter-Late	Egg Take		
Stock:	KALAMA R 27.0002	Shipping		
Brood Origin:	WILD	Received	54,000	1,543
Integrated/Segregated:	SEGREGATED	Planted	45,000	8,182

### **Estimated Brood Data**

Egg Take Goal

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	11/2024	12/2024	MOSSYROCK HATCHERY	54,000	35.0	1,543	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	05/2025	45,000	5.5	8,182	JUVENILE	KALAMA R 27.0002	AD	

Memo: Program implementation is dependent on legal authority and funding. Fish excess to program may be planted in upland lakes.

## FALLERT CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead			
Run:	Summer	Egg Take		
Stock:	KALAMA R 27.0002	Shipping		
Brood Origin:	WILD	Received	100,000	4,000
Integrated/Segregated:	INTEGRATED	Planted	90,000	16,364

### **Estimated Brood Data**

Egg Take Goal

## Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	11/2025	12/2025	MOSSYROCK HATCHERY	100,000	25.0	4,000	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	05/2026	50,000	5.5	9,091	JUVENILE	KALAMA R 27.0002	AD	
04/2026	05/2026	40,000	5.5	7,273	JUVENILE	KALAMA R 27.0002	AD	

Memo: Program implementation is dependent on legal authority and funding. Program size will remain constant however transfers from Mossyrock and Kalama may vary annually due to results of fish health testing.

Tuesday, January 9, 2024

## FALLERT CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead			
Run:	Winter-Late	Egg Take		
Stock:	KALAMA R 27.0002	Shipping		
Brood Origin:	WILD	Received	54,000	1,543
Integrated/Segregated:	SEGREGATED	Planted	45,000	8,182

### **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	11/2025	12/2025	MOSSYROCK HATCHERY	54,000	35.0	1,543	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	05/2026	45,000	5.5	8,182	JUVENILE	KALAMA R 27.0002	AD	

Memo: Program implementation is dependent on legal authority and funding. Fish excess to program may be planted in upland lakes.

## FORKS CREEK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

### COASTAL / PUGET SOUND / HOOD CANAL

Integrated/Segregated:	SEGREGATED	Planted	45,000	9,000
Integrated/Segregated:	SEGREGATED	Planted	45,000	9,000
-			45 000	0.000
Brood Origin:	HATCHERY	Received		
Run: Stock:	Winter FORKS CREEK HATCHERY	Shipping		
Species:	Steelhead	Egg Take		
			Total #	Total Pounds

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	05/2025	10,000	5.0	2,000	JUVENILE	FORK CR 24.0356	AD	
04/2025	05/2025	35,000	5.0	7,000	JUVENILE	FORK CR 24.0356	AD	

Memo: Program implementation is dependent on legal authority and funding. Fish volitionally at 5-6 fpp. Backfill for Naselle.

## FORKS CREEK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

### COASTAL / PUGET SOUND / HOOD CANAL

Estimated Brood Dat Egg Take Goal 60,	<u>a</u> 000				
Integrated/Segregated:	SEGREGATED		Planted	45,000	9,000
Brood Origin:	HATCHERY		Received		
Stock:	FORKS CREEK HATCHERY		Shipping		
Run:	Winter		Egg Take	60,000	
Brood Year: Species:	2025 Steelhead	-		Total #	Total Pounds

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	05/2026	10,000	5.0	2,000	JUVENILE	FORK CR 24.0356	AD	
04/2026	05/2026	35,000	5.0	7,000	JUVENILE	FORK CR 24.0356	AD	

Memo: Program implementation is dependent on legal authority and funding. Fish volitionally at 5-6 fpp. Backfill for Naselle.

## **HOKO FALLS HATCHERY**

#### MAKAH TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead	Con Tales	F 4 000	
Run:	Winter	Egg Take	54,000	
Stock:	HOKO R 19.0148	Shipping		
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:	SEGREGATED	Planted	45,000	5,021
Estimated Brood Dat	<u>a</u>			
Egg Take Goal 54,0	000			
Estimated Transfer D	ata			

Shipped or Received Start Date End Date Facility	Number	FPP	Total Pounds	Life Stage	
--	--------	-----	--------------	------------	--

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
06/2024	06/2024	5,000	250.0	20	JUVENILE	VILLAGE CR 19.0240	AD	
04/2025	04/2025	2,500	8.0	313	JUVENILE	AGENCY CR 19.0238	AD	
04/2025	04/2025	25,000	8.0	3,125	JUVENILE	HOKO R 19.0148	AD	
04/2025	04/2025	12,500	8.0	1,563	JUVENILE	SEKIU R 19.0203	AD	

Memo:

## **HOKO FALLS HATCHERY**

#### MAKAH TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Species: Steelhead   Run: Winter   Stock: HOKO R 19.0148   Brood Origin: HATCHERY	
Kun: Winter   Stock: HOKO R 19.0148	
Brood Origin: HATCHERY Received	
Integrated/Segregated: SEGREGATED Planted 45,000 5,	5,021
Estimated Brood Data	
Egg Take Goal 54,000	

		FPP Total Pounds Life Stage
--	--	-----------------------------

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
06/2025	06/2025	5,000	250.0	20	JUVENILE	VILLAGE CR 19.0240	AD	
04/2026	04/2026	2,500	8.0	313	JUVENILE	AGENCY CR 19.0238	AD	
04/2026	04/2026	25,000	8.0	3,125	JUVENILE	HOKO R 19.0148	AD	
04/2026	04/2026	12,500	8.0	1,563	JUVENILE	SEKIU R 19.0203	AD	

Memo:

## HUMPTULIPS HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024 Stockhood			Total #	Total Pound
Species:	Steelhead		Egg Take		
Run:	Summer				
Stock:	HUMPTULIPS HATCHERY	Shipping			
Brood Origin:	HATCHERY	Received			
Integrated/Segregated:	SEGREGATED	Planted	30,000	5,000	
Estimated Brood Dat	<u>a</u>				
Egg Take Goal					
Estimated Transfer D	ata				
Shipped or Received St	art Date End Date Facility	Number	FPP	Total Pounds	Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	05/2025	30,000	6.0	5,000	JUVENILE	STEVENS CR 22.0064	AD	

Memo: Program implementation is dependent on legal authority and funding. Plant excess into Duck Lk (Grays Harbor) Yearly testing for detection of regulated pathogens and obtain exemption from SDCP and co-managers.

## HUMPTULIPS HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead			
Run:	Winter	Egg Take		
Stock:	HUMPTULIPS HATCHERY	Shipping	15,500	620
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:	SEGREGATED	Planted	125,000	20,833

## **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	10/2024	10/2024	MAYR BROTHERS REARIN	15,500	25.0	620	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	05/2025	125,000	6.0	20,833	JUVENILE	STEVENS CR 22.0064	AD	

Memo: Program implementation is dependent on legal authority and funding. Fish released at 6-7 fpp.

### HUMPTULIPS HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025 Storally and			Total #	Total Pounds
Species:	Steelhead		Egg Take	60,000	
Run:	Summer			00,000	
Stock:	HUMPTULIPS HATCHERY		Shipping		
Brood Origin:	HATCHERY	Received			
Integrated/Segregated:	SEGREGATED		Planted	30,000	5,000
Estimated Brood Dat	<u>a</u>				
Egg Take Goal 60,0	000				
Estimated Transfer D	ata				
Shipped or Received St	art Date End Date Facility	Number	FPP	Total Pounds	Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	05/2026	30,000	6.0	5,000	JUVENILE	STEVENS CR 22.0064	AD	

Memo: Program implementation is dependent on legal authority and funding. Plant excess into Duck Lk (Grays Harbor) Yearly testing for detection of regulated pathogens and obtain exemption from SDCP and co-managers.

## HUMPTULIPS HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead	Fee Teles		
Run:	Winter	Egg Take	225,000	
Stock:	HUMPTULIPS HATCHERY	Shipping	15,500	620
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:	SEGREGATED	Planted	125,000	20,833

## **Estimated Brood Data**

Egg Take Goal 225,000

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	10/2025	10/2025	MAYR BROTHERS REARIN	15,500	25.0	620	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	05/2026	125,000	6.0	20,833	JUVENILE	STEVENS CR 22.0064	AD	

Memo: Program implementation is dependent on legal authority and funding. Fish released at 6-7 fpp.

## HURD CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead	Can Taka		
Run:	Winter	Egg Take		
Stock:	DUNGENESS HATCHERY	Shipping	10,500	1,750
Brood Origin:	HATCHERY	Received	50,000	0
Integrated/Segregated:	SEGREGATED	Planted	34,500	16

### **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	02/2024	02/2024	DUNGENESS HATCHERY	50,000		0	EGGS GREEN
Shipped	01/2025	02/2025	DUNGENESS HATCHERY	10,500	6.0	1,750	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2024	04/2024	34,500	2,200.0	16	JUVENILE	LK ST CLAIR (THUR)		

Memo: Program implementation is dependent on legal authority and funding. Excess fry will be planted into non-anadromous Thurston Co. Lakes in Fish Health Zones.

## HURD CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead	c		
Run:	Winter	Egg Take		
Stock:	DUNGENESS HATCHERY	Shipping	10,500	1,750
Brood Origin:	HATCHERY	Received	50,000	0
Integrated/Segregated:	SEGREGATED	Planted	34,500	16

### **Estimated Brood Data**

Egg Take Goal

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	02/2025	02/2025	DUNGENESS HATCHERY	50,000		0	EGGS GREEN
Shipped	01/2026	02/2026	DUNGENESS HATCHERY	10,500	6.0	1,750	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2024	34,500	2,200.0	16	JUVENILE	LK ST CLAIR (THUR)		

Memo: Program implementation is dependent on legal authority and funding. Excess fry will be planted into non-anadromous Thurston Co. Lakes in Fish Health Zones.

## **ICY CR HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH PUGET SOUND

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead			
Run:	Summer	Egg Take		
Stock:	SOOS CREEK HATCH	Shipping	55,000	5,500
Brood Origin:	HATCHERY	Received	120,000	1,200
Integrated/Segregated:	SEGREGATED	Planted	50,000	9,091

## **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Received     08/2024     08/2024     PALMER HATCHERY     120,000     100.0     1,200     JUVENILE	Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped     02/2025     02/2025     SOOS CREEK HATCHERY     55,000     10.0     5,500     JUVENILE	Received	08/2024	08/2024	PALMER HATCHERY	120,000	100.0	1,200	JUVENILE
	Shipped	02/2025	02/2025	SOOS CREEK HATCHERY	55,000	10.0	5,500	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	50,000	5.5	9,091	JUVENILE	ICY CR 09.0125	AD	

Memo: Program implementation is dependent on legal authority and funding. Release starts on April 15th.

## **ICY CR HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH PUGET SOUND

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead			
Run:	Winter-Late	Egg Take		
Stock:	GREEN R NATIVE (9)	Shipping		
Brood Origin:	MIXED	Received	58,000	580
Integrated/Segregated:	INTEGRATED	Planted	53,000	6,625

## **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	09/2024	09/2024	PALMER HATCHERY	58,000	100.0	580	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	53,000	8.0	6,625	JUVENILE	ICY CR 09.0125	BW	

## **ICY CR HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH PUGET SOUND

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead			
Run:	Summer	Egg Take		
Stock:	SOOS CREEK HATCH	Shipping	55,000	5,500
Brood Origin:	HATCHERY	Received	120,000	1,200
Integrated/Segregated:	SEGREGATED	Planted	50,000	9,091

## **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	08/2025	08/2025	PALMER HATCHERY	120,000	100.0	1,200	JUVENILE
Shipped	02/2026	02/2026	SOOS CREEK HATCHERY	55,000	10.0	5,500	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	50,000	5.5	9,091	JUVENILE	ICY CR 09.0125	AD	

Memo: Program implementation is dependent on legal authority and funding. Release starts on April 15th.

## **ICY CR HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH PUGET SOUND

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead	Cee Telve		
Run:	Winter-Late	Egg Take		
Stock:	GREEN R NATIVE (9)	Shipping		
Brood Origin:	MIXED	Received	58,000	580
Integrated/Segregated:	INTEGRATED	Planted	53,000	6,625

## **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	09/2025	09/2025	PALMER HATCHERY	58,000	100.0	580	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2026	05/2026	53,000	8.0	6,625	JUVENILE	ICY CR 09.0125	BW	

## KALAMA FALLS HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead	с т.		
Run:	Winter	Egg Take		
Stock:	KALAMA FALLS HATCHERY	Shipping	50,000	0
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:	SEGREGATED	Planted	90,000	16,364

### **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	05/2024	05/2024	VANCOUVER HATCHERY	50,000		0	EGGS EYED

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	05/2025	90,000	5.5	16,364	JUVENILE	KALAMA R 27.0002	AD	$\checkmark$

Memo: Program implementation is dependent on legal authority and funding. Release 4/15 to 5/15. Surplus planted in land-locked lakes.

## **KALAMA FALLS HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2025					Total #	Total Pounds
Species: Run:	Steelhea Summe				Egg Take	135,000	
Stock:	KALAMA				Shipping	130,000	0
Brood Origin:	WILD				Received		
Integrated/Segregated	d: INTEGR	ATED			Planted		
Estimated Brood D	<u>lata</u>						1
Egg Take Goal	135,000						
Estimated Transfe	r Data						
Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	03/2025	04/2025	MOSSYROCK HATCHERY	130,000		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
Start Bate		Nulli Release		i otar i ourius	Enc Stuge	Neleuse She	i i i i i i i i i i i i i i i i i i i	luggeu

Memo: Program implementation is dependent on legal authority and funding. Due to IHN numbers are goals and may be transferred to Fallert or Kalama Falls.

## KALAMA FALLS HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead			
Run:	Winter	Egg Take	280,000	
Stock:	KALAMA FALLS HATCHERY	Shipping	50,000	0
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:	SEGREGATED	Planted	90,000	16,364

### **Estimated Brood Data**

Egg Take Goal 280,000

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	05/2025	05/2025	VANCOUVER HATCHERY	50,000		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	05/2026	90,000	5.5	16,364	JUVENILE	KALAMA R 27.0002	AD	$\checkmark$

Memo: Program implementation is dependent on legal authority and funding. Release 4/15 to 5/15. Surplus planted in land-locked lakes.

## **KALAMA FALLS HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTHWEST WASHINGTON / LOWER COL

Brood Year: Species: Run: Stock: Brood Origin: Integrated/Segregated Estimated Brood D		Late A R 27.0002			Egg Take Shipping Received Planted	Total #       72,000       60,000	Total Pounds   0
	<u>ata</u> 2,000						
Estimated Transfer		End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	04/2025	05/2025	MOSSYROCK HATCHERY	60,000		0	EGGS EYED

## **Estimated Release Data**

<b>.</b> . <b>.</b> .							· · · -	
Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged

Memo: Program implementation is dependent on legal authority and funding. Due to IHN numbers are goals and may be transferred to Fallert or Kalama Falls.

### **KENDALL CR HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH PUGET SOUND

Species: Run:	Steelhead Winter		Egg Take		
Stock:	KENDALL CR HATCHERY		Shipping		
Brood Origin:	HATCHERY		Received		
Integrated/Segregated:	SEGREGATED		Planted	150,000	30,000
Estimated Brood Dat	<u>a</u>	· · · · · · · · · · · · · · · · · · ·			
Egg Take Goal					
Estimated Transfer D	<u>ata</u>				
Shipped or Received St	art Date End Date Facility	Number	FPP	Total Pounds	Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	05/2025	150,000	5.0	30,000	JUVENILE	KENDALL CR 01.0406	AD	

Memo: Program implementation is dependent on legal authority and funding. Volitional release begins April 15th. Goal is 150,000 total for system.

### **KENDALL CR HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH PUGET SOUND

Brood Year:	2025			Total #	Total Pounds
Species:	Steelhead		Fac Take	200.000	
Run:	Winter		Egg Take	200,000	
Stock:	KENDALL CR HATCHERY		Shipping		
Brood Origin:	HATCHERY		Received		
Integrated/Segregated:	SEGREGATED		Planted	150,000	30,000
Estimated Brood Dat	<u>a</u>				
Egg Take Goal 200	,000				
Estimated Transfer D	ata				
Shipped or Received St	art Date End Date Facility	Number	FPP	Total Pounds	Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	05/2026	150,000	5.0	30,000	JUVENILE	KENDALL CR 01.0406	AD	

Memo: Program implementation is dependent on legal authority and funding. Volitional release begins April 15th. Goal is 150,000 total for system.

# **KLINELINE PONDS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead			
Run:	Winter	Egg Take		
Stock:	KALAMA FALLS HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	41,000	3,417
Integrated/Segregated:	SEGREGATED	Planted	40,000	5,714

# **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	03/2025	03/2025	SKAMANIA HATCHERY	41,000	12.0	3,417	JUVENILE

# **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	05/2025	40,000	7.0	5,714	JUVENILE	SALMON CR 28.0059	AD	

Memo: Program implementation is dependent on legal authority and funding. Cowlitz stock may be used as backfill.

# **KLINELINE PONDS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead			
Run:	Winter	Egg Take		
Stock:	KALAMA FALLS HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	41,000	3,417
Integrated/Segregated:	SEGREGATED	Planted	40,000	5,714

# **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	03/2026	03/2026	SKAMANIA HATCHERY	41,000	12.0	3,417	JUVENILE

# **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	05/2026	40,000	7.0	5,714	JUVENILE	SALMON CR 28.0059	AD	

Memo: Program implementation is dependent on legal authority and funding. Cowlitz stock may be used as backfill.

# LK ABERDEEN HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024			Total #	Total Pound
Species:	Steelhead	_	Egg Take		
Run:	Summer				
Stock:	LK ABERDEEN HATCHERY		Shipping		
Brood Origin:	HATCHERY		Received		
Integrated/Segregated:	SEGREGATED		Planted	60,000	12,000
Estimated Brood Dat	<u>a</u>	L			I
Egg Take Goal					
Estimated Transfer D	ata				
Shipped or Received St	art Date End Date Facility	Number	FPP	Total Pounds	Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	60,000	5.0	12,000	JUVENILE	WYNOOCHEE R 22.0260	AD	

Memo: Program implementation is dependent on legal authority and funding. Plant excess into Vance Creek Ponds (Grays Harbor) Yearly testing for detection of regulated pathogens and obtain exemption from SDCP and co-managers. Released at various locations throughout the Wynoochee watershed.

# LK ABERDEEN HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pound
Species:	Steelhead	Egg Ta	ko	
Run:	Winter-Late			
Stock:	WYNOOCHEE R 22.0260	Shippi	ng	
Brood Origin:	MIXED	Receiv	ed	
Integrated/Segregated:	INTEGRATED	Plante	d 170,000	34,000
Estimated Brood Data	<u>a</u>			i
Egg Take Goal				
Estimated Transfer D	ata			
Shipped or Received Sta	art Date End Date Facility	Number F	PP Total Pounds	Life Stage

# **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	170,000	5.0	34,000	JUVENILE	WYNOOCHEE R 22.0260	AD	

Memo: Program implementation is dependent on legal authority and funding. Mitigation. Plant excess into Vance Creek Ponds (Grays Harbor) Yearly testing for detection of regulated pathogens and obtain exemption from SDCP and co-managers. Released at various locations throughout the Wynoochee watershed.

# LK ABERDEEN HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025			Total #	Total Pounds
Species:	Steelhead	F	gg Take	235,000	
Run:	Summer			233,000	
Stock:	LK ABERDEEN HATCHERY	S	Shipping		
Brood Origin:	HATCHERY	F	Received		
Integrated/Segregated:	SEGREGATED	F	Planted	60,000	12,000
Estimated Brood Data	<u>a</u> ,000				
Estimated Transfer D	<u>ata</u>				
Shipped or Received St	art Date End Date Facility	Number	FPP	Total Pounds	Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	60,000	5.0	12,000	JUVENILE	WYNOOCHEE R 22.0260	AD	

Memo: Program implementation is dependent on legal authority and funding. Plant excess into Vance Creek Ponds (Grays Harbor) Yearly testing for detection of regulated pathogens and obtain exemption from SDCP and co-managers. Released at various locations throughout the Wynoochee watershed.

# LK ABERDEEN HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025			Total #	Total Pounds
Species:	Steelhead	F	gg Take	340,000	
Run:	Winter-Late			,	
Stock:	WYNOOCHEE R 22.0260	St	nipping		
Brood Origin:	MIXED	R	eceived		
Integrated/Segregated:	INTEGRATED	PI	lanted	170,000	34,000
Estimated Brood Dat	<u>a</u>				
Egg Take Goal 340	,000				
Estimated Transfer D	<u>ata</u>				
Shipped or Received St	art Date End Date Facility	Number	FPP	Total Pounds	Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	170,000	5.0	34,000	JUVENILE	WYNOOCHEE R 22.0260	AD	

Memo: Program implementation is dependent on legal authority and funding. Mitigation. Plant excess into Vance Creek Ponds (Grays Harbor) Yearly testing for detection of regulated pathogens and obtain exemption from SDCP and co-managers. Released at various locations throughout the Wynoochee watershed.

# LONESOME CR HATCHERY

#### QUILEUTE TRIBE

### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead	Fee Talua		Total Total
Run:	Winter	Egg Take		
Stock:	BOGACHIEL HATCHERY	Shipping	80,000	533
Brood Origin:	HATCHERY	Received	100,000	0
Integrated/Segregated:	SEGREGATED	Planted		

# **Estimated Brood Data**

Egg Take Goal

# **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility			Number	FPP	<b>Total Pounds</b>	Life Stage	
Received	02/2025	02/2025	BOGA	CHIEL HATCHERY	[	100,000		0	EGGS EY	ED
Shipped	07/2025	07/2025	BOGA	CHIEL HATCHERY	(	80,000	150.0	533	JUVENIL	Е
Estimated Release		lease	FPP	Total Pounds	Life Stage	Release Site		Mark	Туре	Tagged

Memo: Cooperative with WDFW.

# LOWER ELWHA HATCHERY

LOWER ELWHA KLALLAM TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024				Total #	Total Pounds
Species:	Steelhead			Egg Take		
Run:	Winter-Late					
Stock:	ELWHA R 18.0272			Shipping		
Brood Origin:	MIXED			Received		
Integrated/Segregated:	INTEGRATED			Planted	175,000	29,167
Estimated Brood Dat	<u>a</u>					
Egg Take Goal						
Estimated Transfer D	ata					
Shipped or Received St	art Date End Date	Facility	Number	FPP	Total Pounds	Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2026	05/2026	175,000	6.0	29,167	JUVENILE	ELWHA R 18.0272	AD	

Memo: All fish identified as being in genetic excess to captive brood program needs will be planted into the Elwha River at either age 1+ or 2+.

# LOWER ELWHA HATCHERY

LOWER ELWHA KLALLAM TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025 Steelbaad				Total #	Total Pounds
Species:	Steelhead			Egg Take	200,000	
Run: Stock:	Winter-Late ELWHA R 18.0272		Shipping			
Brood Origin:	MIXED			Received		
Integrated/Segregated:	INTEGRATED			Planted	175,000	29,167
Estimated Brood Data	<u>1</u>			<u> </u>		1
Egg Take Goal 200	000					
Estimated Transfer D	ata					
Shipped or Received Sta	irt Date End Date Fa	acility	Number	FPP	Total Pounds	Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2027	05/2027	175,000	6.0	29,167	JUVENILE	ELWHA R 18.0272	AD	

Memo: All fish identified as being in genetic excess to captive brood program needs will be planted into the Elwha River at either age 1+ or 2+.

# LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### EASTERN WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead	c = 1		Total Total
Run:	Summer	Egg Take		
Stock:	TOUCHET R -ENDEMIC	Shipping	50,000	11,111
Brood Origin:	MIXED	Received		
Integrated/Segregated:	INTEGRATED	Planted		

# **Estimated Brood Data**

Egg Take Goal

# Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility			Number	FPP	<b>Total Pounds</b>	Life Stag	je
Shipped	04/2025	04/2025	DAYTO	N ACCLIMA. PON	ID	50,000	4.5	11,111	JUVENI	LE
Estimated Release	e Data									
Start Date End Date	te Num Re	lease	FPP	Total Pounds	Life Stage	Release Site		Mark	Гуре	Tagged

# LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### EASTERN WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead	Fee Take		
Run:	Summer	Egg Take	185,000	
Stock:	TUCANNON R 35.0009	Shipping	50,000	11,111
Brood Origin:	MIXED	Received		
Integrated/Segregated:	INTEGRATED	Planted	100,000	22,223

## **Estimated Brood Data**

Egg Take Goal 185,000

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	04/2025	04/2025	CURL LK ACCLIMA. PD	50,000	4.5	11,111	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2025	04/2025	7,500	4.5	1,667	JUVENILE	TUCANNON R 35.0009	AD+PT	
03/2025	04/2025	17,500	4.5	3,889	JUVENILE	TUCANNON R 35.0009	AD	$\checkmark$
03/2025	04/2025	75,000	4.5	16,667	JUVENILE	TUCANNON R 35.0009	AD	

## LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### EASTERN WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead			
Run:	Summer	Egg Take		
Stock:	WALLOWA R	Shipping	327,000	54,500
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:	SEGREGATED	Planted	60,000	13,334

## **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	02/2025	02/2025	COTTONWOOD CR POND	226,000	6.0	37,667	JUVENILE
Shipped	03/2025	03/2025	DAYTON ACCLIMA. POND	101,000	6.0	16,833	JUVENILE

# **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2025	03/2025	3,000	4.5	667	JUVENILE	LYONS FERRY REL.SITE	AD+PT	$\checkmark$
03/2025	03/2025	53,600	4.5	11,911	JUVENILE	LYONS FERRY REL.SITE	AD	
03/2025	03/2025	3,400	4.5	756	JUVENILE	LYONS FERRY REL.SITE	AD	$\checkmark$

# LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead			
Run:	Summer	Egg Take	60,000	
Stock:	TOUCHET R -ENDEMIC	Shipping	50,000	11,111
Brood Origin:	MIXED	Received		
Integrated/Segregated:	INTEGRATED	Planted		
Estimated Bread Date				

#### Estimated Brood Data

Egg Take Goal 60,000

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility			Number	FPP	<b>Total Pounds</b>	Life Stage	
Shipped	04/2026	04/2026	DAYTO	N ACCLIMA. PON	١D	50,000	4.5	11,111	JUVENILI	E
Estimated Releas	<u>e Data</u>									
Start Date End Da	te Num Re	lease	FPP	Total Pounds	Life Stage	Release Site		Mark	Гуре	Tagged

# LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead	Faa Taka	185,000	
Run:	Summer	Egg Take	165,000	
Stock:	TUCANNON R 35.0009	Shipping	50,000	11,111
Brood Origin:	MIXED	Received		
Integrated/Segregated:	INTEGRATED	Planted	100,000	22,223

## **Estimated Brood Data**

Egg Take Goal 185,000

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	04/2026	04/2026	CURL LK ACCLIMA. PD	50,000	4.5	11,111	JUVENILE

# **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2026	04/2026	7,500	4.5	1,667	JUVENILE	TUCANNON R 35.0009	AD+PT	
03/2026	04/2026	17,500	4.5	3,889	JUVENILE	TUCANNON R 35.0009	AD	$\checkmark$
03/2026	04/2026	75,000	4.5	16,667	JUVENILE	TUCANNON R 35.0009	AD	

# LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead			
Run:	Summer	Egg Take		
Stock:	WALLOWA R	Shipping	327,000	54,500
Brood Origin:	HATCHERY	Received	450,000	0
Integrated/Segregated:	SEGREGATED	Planted	60,000	13,334

# **Estimated Brood Data**

Egg Take Goal

# **Estimated Transfer Data**

Shipped or	Received	Start Date	End Date	Facilit	У		Number	FPP	Total Pounds	Life Sta	age
Received		03/2025	04/2025	COTT	CONWOOD CR PON	ND	450,000		0	0 EGGS GRE	
Shipped		02/2026	02/2026	COTT	CONWOOD CR PON	ND	226,000	6.0	37,667	JUVE	NILE
Shipped		03/2026	03/2026	DAY	FON ACCLIMA. PC	ND	101,000	6.0	16,833	JUVE	NILE
<b>Estimated</b>	Release	<u>Data</u>									
Start Date	End Date	Num Re	elease	FPP	Total Pounds	Life Stage	Release Site		Mark	Туре	Tagged
03/2026	03/2026		3,000	4.5	667	JUVENILE	LYONS FERRY REL	.SITE	AD+	PT	$\checkmark$
03/2026	03/2026	5.	3,600	4.5	11,911	JUVENILE	LYONS FERRY REL	.SITE	AD		
03/2026	03/2026	í	3,400	4.5	756	JUVENILE	LYONS FERRY REL	.SITE	AD		$\checkmark$

# MAKAH NFH ON TSOO-YESS R

U.S. FISH AND WILDLIFE SERVICE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead	с т.		Total Total of the
Run:	Winter	Egg Take		
Stock:	TSOO-YESS R 20.0015	Shipping	22,000	3,143
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:	SEGREGATED	Planted	158,000	28,727

# **Estimated Brood Data**

Egg Take Goal

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	04/2025	04/2025	EDUCKET CR HATCHERY	22,000	7.0	3,143	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site		Mark Type	Tagged
05/2025	05/2025	158,000	5.5	28,727	JUVENILE	TSOO-YESS R	20.0015		

Memo: If possible, transfer to Educket Cr for imprinting before release.

# MAKAH NFH ON TSOO-YESS R

U.S. FISH AND WILDLIFE SERVICE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead	Coo Toles		
Run:	Winter	Egg Take		
Stock:	TSOO-YESS R 20.0015	Shipping	22,000	3,143
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:	SEGREGATED	Planted	158,000	28,727

# **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	04/2026	04/2026	EDUCKET CR HATCHERY	22,000	7.0	3,143	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site		Mark Type	Tagged
05/2026	05/2026	158,000	5.5	28,727	JUVENILE	TSOO-YESS R	20.0015		

Memo: If possible, transfer to Educket Cr for imprinting before release.

## MANCHESTER

NATIONAL MARINE FISHERIES SERVICE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year: 2	024		Total #	Total Pounds
Species: S	teelhead	- <b>-</b> 1		
Run: S	ummer	Egg Take		
Stock:	/IETHOW R 48.0002	Shipping		
Brood Origin:	VILD	Received	2,000	0
Integrated/Segregated:	NTEGRATED	Planted		

# Estimated Brood Data

Egg Take Goal

# **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	06/2024	06/2024	WINTHROP NFH	2,000		0	EGGS EYED
Estimated Release	<u>Data</u>						

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged	
------------	----------	-------------	-----	---------------------	------------	--------------	-----------	--------	--

Memo: For research.

## MANCHESTER

NATIONAL MARINE FISHERIES SERVICE

#### COASTAL / PUGET SOUND / HOOD CANAL

Species: Steelhead Egg Take	I # Total Pounds
Run: Summer	
Stock: METHOW R 48.0002 Shipping	
Brood Origin: WILD Received 2,000	0 0
Integrated/Segregated: INTEGRATED Planted	

# **Estimated Brood Data**

Egg Take Goal

# **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	06/2025	06/2025	WINTHROP NFH	2,000		0	EGGS EYED
Estimated Release	<u>Data</u>						

Start Date End Date Wain Release The Total Total Total Total Ounds Ene Stage Release Site Main Release The Tagged	Start Date	End Date	e Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
---	------------	----------	---------------	-----	---------------------	------------	--------------	-----------	--------

Memo: For research.

## MAYR BROTHERS REARIN

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead	c		. otari ounus
Run:	Winter	Egg Take		
Stock:	HUMPTULIPS HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	15,500	620
Integrated/Segregated:	SEGREGATED	Planted	15,000	2,143

# **Estimated Brood Data**

```
Egg Take Goal
```

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	10/2024	10/2024	HUMPTULIPS HATCHERY	15,500	25.0	620	JUVENILE

# **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	15,000	7.0	2,143	JUVENILE	WISHKAH R 22.0191	AD	

## MAYR BROTHERS REARIN

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead			
Run:	Winter	Egg Take		
Stock:	HUMPTULIPS HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	15,500	620
Integrated/Segregated:	SEGREGATED	Planted	15,000	2,143

# **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	10/2025	10/2025	HUMPTULIPS HATCHERY	15,500	25.0	620	JUVENILE

# **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	15,000	7.0	2,143	JUVENILE	WISHKAH R 22.0191	AD	

# **MERWIN HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

### SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead		. o tal li	Total Total a
Run:	Summer	Egg Take		
Stock:	MERWIN HATCHERY	Shipping	63,000	9,000
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:	SEGREGATED	Planted	175,000	31,818

# **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	03/2025	03/2025	ECHO NP (LEWIS R-NF)	63,000	7.0	9,000	JUVENILE

# **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	05/2025	175,000	5.5	31,818	JUVENILE	LEWIS R 27.0168	AD	

Memo: Program implementation is dependent on legal authority and funding. Release 4/15 to 5/15.

## **MERWIN HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTHWEST WASHINGTON / LOWER COL

Shipped or Received Sta	art Date End Date Facility	Number	FPP	Total Pounds	Life Stage
Estimated Transfer D	ata				
Egg Take Goal					
Estimated Brood Data	<u>a</u>				
Integrated/Segregated:	SEGREGATED		Planted	100,000	18,182
Brood Origin:	HATCHERY		Received		
Stock:	MERWIN HATCHERY		Shipping		
Run:	Winter		Egg Take		
Species:	Steelhead			Total #	Total Pounds
Brood Year:	2024				

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	05/2025	100,000	5.5	18,182	JUVENILE	LEWIS R 27.0168	AD	

Memo: Program implementation is dependent on legal authority and funding. Release 4/15 to 5/15.

## **MERWIN HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2024				Total #	Total Pounds
Species:	Steelhead			Egg Take		
Run:	Winter-Late					
Stock:	LEWIS R 27.0168			Shipping		
Brood Origin:	WILD			Received		
Integrated/Segregated:	INTEGRATED			Planted	50,000	8,333
Estimated Brood Dat	<u>a</u>					
Egg Take Goal						
Estimated Transfer D	ata					
Shipped or Received St	art Date End Date	Facility	Number	FPP	Total Pounds	Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	06/2025	50,000	6.0	8,333	JUVENILE	LEWIS R -NF 27.0168	BW	

Memo: Program implementation is dependent on legal authority and funding. Release size is 5 to 8 fpp.

# **MERWIN HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTHWEST WASHINGTON / LOWER COL

Species:SteelheadEgg Take325,000Run:SummerEgg Take325,000Stock:MERWIN HATCHERYShipping63,0009,000Brood Origin:HATCHERYReceivedReceived	Brood Year:	2025		Total #	Total Pounds
Run:SummerSummerStock:MERWIN HATCHERYShipping63,0009,000Brood Origin:HATCHERYReceivedReceived	Species:	Steelhead	Fag Taka		
Brood Origin: HATCHERY Received	Run:	Summer		325,000	
	Stock:	MERWIN HATCHERY	Shipping	63,000	9,000
Integrated/Segregated: SEGREGATED Planted 175,000 31,818	Brood Origin:	HATCHERY	Received		
	Integrated/Segregated:	SEGREGATED	Planted	175,000	31,818

# **Estimated Brood Data**

Egg Take Goal 325,000

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	03/2026	03/2026	ECHO NP (LEWIS R-NF)	63,000	7.0	9,000	JUVENILE

# **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	05/2026	175,000	5.5	31,818	JUVENILE	LEWIS R 27.0168	AD	

Memo: Program implementation is dependent on legal authority and funding. Release 4/15 to 5/15.

# **MERWIN HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTHWEST WASHINGTON / LOWER COL

Run: Stock:	Winter MERWIN HATCHERY			Egg Take Shipping	145,000	
Brood Origin:	HATCHERY			Received		
Integrated/Segregated:	SEGREGATED			Planted	100,000	18,182
Estimated Brood Dat	<u>a</u>				1	I
Egg Take Goal 145	,000					
Estimated Transfer D	ata					
	art Date End Date	Facility	Number	FPP	Total Pounds	Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	05/2026	100,000	5.5	18,182	JUVENILE	LEWIS R 27.0168	AD	

Memo: Program implementation is dependent on legal authority and funding. Release 4/15 to 5/15.

# **MERWIN HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2025				Total #	Total Pounds
Species: Run:	Steelhead Winter-Late			Egg Take	115,000	
Stock:	LEWIS R 27.0168			Shipping		
Brood Origin:	WILD			Received		
Integrated/Segregated:	INTEGRATED			Planted	50,000	8,333
Estimated Brood Dat	<u>a</u>			L		
Egg Take Goal 115	,000					
Estimated Transfer D	ata					
Shipped or Received St	art Date End Date	Facility	Number	FPP	Total Pounds	Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2026	06/2026	50,000	6.0	8,333	JUVENILE	LEWIS R -NF 27.0168	BW	

Memo: Program implementation is dependent on legal authority and funding. Release size is 5 to 8 fpp.

# **MOSSYROCK HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead	Fee Teles		
Run:	Summer	Egg Take		
Stock:	KALAMA R 27.0002	Shipping	100,000	4,000
Brood Origin:	WILD	Received		
Integrated/Segregated:	INTEGRATED	Planted		
Estimated Brood Data	<u>a</u>			

Egg Take Goal

### **Estimated Transfer Data**

Shipped 11/2024 12/2024 FALLERT CR HATCHER	RY	100,00	<b>)0</b> 25.0	4,000	JUVENILE	
Estimated Release Data						
Start Date End Date Num Release FPP Total Pounds	Life Stage	Release Site		Mark	Туре Т	agged

# **MOSSYROCK HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead			
Run:	Winter-Late	Egg Take		
Stock:	KALAMA R 27.0002	Shipping	54,000	1,543
Brood Origin:	WILD	Received		
Integrated/Segregated:	INTEGRATED	Planted		
Estimated Brood Dat	a			

Egg Take Goal

### **Estimated Transfer Data**

Shipped 11/2024 12/2024 FALLERT CR HATCHERY	54,000	35.0	1,543	JUVENILE
Estimated Release Data				
Start Date End Date Num Release FPP Total Pounds Life	fe Stage Release Site		Mark	Type Tagged

# **MOSSYROCK HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead		Total #	
Run:	Summer	Egg Take		
Stock:	KALAMA R 27.0002	Shipping	100,000	4,000
Brood Origin:	WILD	Received	130,000	0
Integrated/Segregated:	INTEGRATED	Planted		

### **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility			Number	FPP	<b>Total Pounds</b>	Life Stage
Received	03/2025	04/2025	KALA	MA FALLS HATCH	HERY	130,000		0	EGGS EYED
Shipped	11/2025	12/2025	FALLE	RT CR HATCHER	Y	100,000	25.0	4,000	JUVENILE
Estimated Releas		elease	FPP	Total Pounds	Life Stage	Release Site		Mark	Type Tagged

# **MOSSYROCK HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead			Total Total
Run:	Winter-Late	Egg Take		
Stock:	KALAMA R 27.0002	Shipping	54,000	1,543
Brood Origin:	WILD	Received	60,000	0
Integrated/Segregated:	INTEGRATED	Planted		

### **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility			Number	FPP	Total Pounds	Life Stage
Received	05/2025	05/2025	KALA	MA FALLS HATCH	HERY	60,000		0	EGGS EYED
Shipped	11/2025	12/2025	FALLE	ERT CR HATCHER	Y	54,000	35.0	1,543	JUVENILE
Estimated Releas		elease	FPP	Total Pounds	Life Stage	Release Site		Mark	Type Tagged

# NASELLE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024 Stoolbood				Total #	Total Pounds
Species: Run:	Steelhead Winter			Egg Take		
Stock:	NASELLE HATCHERY			Shipping		
Brood Origin:	HATCHERY			Received		
Integrated/Segregated:	SEGREGATED			Planted	75,000	13,636
Estimated Brood Data	<u>a</u>					
Egg Take Goal						
Estimated Transfer D	ata					
Shipped or Received Sta	art Date End Date	Facility	Number	FPP	Total Pounds	Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	05/2025	65,000	5.5	11,818	JUVENILE	NASELLE R 24.0543	AD	
04/2025	05/2025	10,000	5.5	1,818	JUVENILE	NASELLE R 24.0543	AD	$\checkmark$

Memo: Program implementation is dependent on legal authority and funding. Fish volitionally released 5 - 6 fpp. May backfill from Forks.

# NASELLE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025 Steelbaad					Total #	Total Pounds
Species: Run:	Steelhead Winter				Egg Take	100,000	
Stock:	NASELLE HATCHERY				Shipping		
Brood Origin:	HATCHERY				Received		
Integrated/Segregated:	SEGREGATED				Planted	75,000	13,636
Estimated Brood Data Egg Take Goal 100	<u>a</u> ,000						
Estimated Transfer D	<u>ata</u>						
Shipped or Received Sta	art Date End Date	Facility	N	lumber	FPP	<b>Total Pounds</b>	Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	05/2025	10,000	5.5	1,818	JUVENILE	NASELLE R 24.0543	AD	
04/2026	05/2026	65,000	5.5	11,818	JUVENILE	NASELLE R 24.0543	AD	

Memo: Program implementation is dependent on legal authority and funding. Fish volitionally released 5 - 6 fpp. May backfill from Forks.

# PALMER HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH PUGET SOUND

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead	с т.		. otali otaliao
Run:	Winter-Late	Egg Take		
Stock:	GREEN R NATIVE (9)	Shipping	58,000	580
Brood Origin:	MIXED	Received	58,000	193
Integrated/Segregated:	INTEGRATED	Planted		

# **Estimated Brood Data**

Egg Take Goal

# **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	,		Number	FPP	Total Pounds	Life Stage	
Received	06/2024	06/2024	SOOS	CREEK HATCHER	Y	58,000	300.0	193	JUVENIL	E
Shipped	09/2024	09/2024	ICY C	R HATCHERY		58,000	100.0	580	JUVENIL	E
Estimated Release		lease	FPP	Total Pounds	Life Stage	Release Site		Mark <sup>-</sup>	Туре	Tagged

## PALMER HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH PUGET SOUND

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead			
Run:	Summer	Egg Take		
Stock:	SOOS CREEK HATCH	Shipping	120,000	1,200
Brood Origin:	HATCHERY	Received	130,000	520
Integrated/Segregated:	SEGREGATED	Planted		

# **Estimated Brood Data**

Egg Take Goal

# Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility			Number	FPP	Total Pounds	Life Stage	
Received	04/2025	04/2025	SOOS (	CREEK HATCHER	Y	130,000	250.0	520	JUVENILE	
Shipped	08/2025	08/2025	ICY CR	HATCHERY		120,000	100.0	1,200	JUVENILE	
Estimated Release		lease	FPP	Total Pounds	Life Stage	Release Site		Mark	Гуре Тадде	ed

## PALMER HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH PUGET SOUND

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead	c . Ŧ 1	lotal li	lotari ounus
Run:	Winter-Late	Egg Take		
Stock:	GREEN R NATIVE (9)	Shipping	58,000	580
Brood Origin:	MIXED	Received	58,000	193
Integrated/Segregated:	INTEGRATED	Planted		

## **Estimated Brood Data**

Egg Take Goal

# Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility		Number	FPP	Total Pounds	Life Stage		
Received	06/2025	06/2025	SOOS	CREEK HATCHER	58,000	300.0	193	JUVENILE		
Shipped	09/2025	09/2025	ICY CR HATCHERY			58,000	100.0	580	JUVENILE	
Estimated Release	Release Site		Mark	Гуре	Tagged					

## **QUINAULT LK HATCHERY**

QUINAULT DEPARTMENT OF NATURAL RESOURCES

### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year: 2024		Total #	Total Pounds
Species: Steelhead	For Taka		
Run: Winter	Egg Take	600,000	
Stock: QUINAULT R	21.0398 Shipping	600,000	0
Brood Origin: MIXED	Received	250,000	8,333
Integrated/Segregated: INTEGRATED	Planted	250,000	50,000

## **Estimated Brood Data**

Egg Take Goal 600,000

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	01/2024	01/2024	QUINAULT NFH -COOK C	600,000		0	EGGS GREEN
Received	09/2024	09/2024	QUINAULT NFH -COOK C	250,000	30.0	8,333	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	220,000	5.0	44,000	JUVENILE	QUINAULT LK (GRAY)		
04/2025	04/2025	30,000	5.0	6,000	JUVENILE	QUINAULT LK (GRAY)	AD	$\checkmark$

Memo: Broodstock captured in Lake Quinault, no hatchery rack.

## **QUINAULT LK HATCHERY**

QUINAULT DEPARTMENT OF NATURAL RESOURCES

### COASTAL / PUGET SOUND / HOOD CANAL

Species:SteelheadItem in the stateRun:WinterEgg Take600,000Stock:QUINAULT R 21.0398Shipping600,000	Brood Year:	2025		Total #	Total Pounds
Kun: Winter	Species:	Steelhead			
Stock: QUINAULT R 21.0398 Shipping 600,000 0	Run:	Winter		600,000	
	Stock:	QUINAULT R 21.0398	Shipping	600,000	0
Brood Origin:     MIXED     Received     250,000     8,333	Brood Origin:	MIXED	Received	250,000	8,333
Integrated/Segregated: INTEGRATED Planted 250,000 50,000	Integrated/Segregated:	INTEGRATED	Planted	250,000	50,000

## **Estimated Brood Data**

Egg Take Goal 600,000

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	01/2025	01/2025	QUINAULT NFH -COOK C	600,000		0	EGGS GREEN
Received	09/2025	09/2025	QUINAULT NFH -COOK C	250,000	30.0	8,333	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	220,000	5.0	44,000	JUVENILE	QUINAULT LK (GRAY)		
04/2026	04/2026	30,000	5.0	6,000	JUVENILE	QUINAULT LK (GRAY)	AD	$\checkmark$

Memo: Broodstock captured in Lake Quinault, no hatchery rack.

# **QUINAULT NFH -COOK C**

U.S. FISH AND WILDLIFE SERVICE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead	с т.)		Total Total a
Run:	Winter	Egg Take		
Stock:	QUINAULT R 21.0398	Shipping	450,000	16,333
Brood Origin:	MIXED	Received	600,000	0
Integrated/Segregated:	INTEGRATED	Planted		

## **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage	
Received	01/2024	01/2024	QUINAULT LK HATCHERY	600,000		0	EGGS GREEN	
Shipped	09/2024	09/2024	QUINAULT LK HATCHERY	250,000	30.0	8,333	JUVENILE	
Shipped	09/2024	09/2024	SALMON R FISH CULTUR	200,000	25.0	8,000	JUVENILE	
Estimated Release Data								
Start Date End Dat	e Num Re	lease	FPP Total Pounds Life Stage	Release Site		Mark	Type Tagged	

Memo:

# **QUINAULT NFH -COOK C**

U.S. FISH AND WILDLIFE SERVICE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024 Storally and		Total #	Total Pounds			
Species: Run:	Steelhead Winter	Egg Tak	e 200,000				
Stock:	COOK CR 21.0429	Shippin	g				
Brood Origin:	HATCHERY	Receive	d				
Integrated/Segregated:	SEGREGATED	Planted	190,000	31,667			
Estimated Brood Dat	<u>a</u>		I				
Egg Take Goal 200	,000						
Estimated Transfer Data							
Shipped or Received St	art Date End Date Facility	Number Fl	P Total Pounds	Life Stage			

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	190,000	6.0	31,667	JUVENILE	COOK CR 21.0429		

Memo:

# **QUINAULT NFH -COOK C**

U.S. FISH AND WILDLIFE SERVICE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead	C Talua		Total Total
Run:	Winter	Egg Take		
Stock:	QUINAULT R 21.0398	Shipping	450,000	16,333
Brood Origin:	MIXED	Received	600,000	0
Integrated/Segregated:	INTEGRATED	Planted		

## **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage	
Received	01/2025	01/2025	QUINAULT LK HATCHERY	600,000		0	EGGS GREEN	
Shipped	09/2025	09/2025	QUINAULT LK HATCHERY	250,000	30.0	8,333	JUVENILE	
Shipped	09/2025	09/2025	SALMON R FISH CULTUR	200,000	25.0	8,000	JUVENILE	
Estimated Release Data								
Start Date End Dat	e Num Re	lease	FPP Total Pounds Life Stage	Release Site		Mark	Type Tagged	

Memo:

# **QUINAULT NFH -COOK C**

U.S. FISH AND WILDLIFE SERVICE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025 Steelbood			Total #	Total Pounds
Species: Run:	Steelhead Winter		Egg Take Shipping		
Stock: Brood Origin:	COOK CR 21.0429 HATCHERY		Received		
Integrated/Segregated:	SEGREGATED		Planted	190,000	31,667
Estimated Brood Data Egg Take Goal	<u>a</u>				
Estimated Transfer D	ata				
Shipped or Received St	art Date End Date Facility	Number	FPP	Total Pounds	Life Stage

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2026	05/2026	190,000	6.0	31,667	JUVENILE	COOK CR 21.0429		

Memo:

# **REITER PONDS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH PUGET SOUND

Estimated Transfer D Shipped or Received Sta	a <u>ta</u> art Date End Date Facility	Number	FPP	Total Pounds	Life Stage
Estimated Brood Data Egg Take Goal	<u>l</u>				
Integrated/Segregated:	INTEGRATED	F	Planted	116,000	11,600
Brood Origin:	WILD	Я	Received		
Stock:	SKYKOMISH R-SF STOCK	S	Shipping		
Run:	Summer	E	gg Take		
Brood Year: Species:	2024 Steelhead			Total #	Total Pounds

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	05/2025	116,000	10.0	11,600	JUVENILE	SKYKOMISH R 07.0012	AD+OT	$\checkmark$

Memo: Program implementation is dependent on legal authority and funding. Fish may be reared at Wallace River Hatchery.

## **REITER PONDS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH PUGET SOUND

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead	Fee Teke		
Run:	Winter	Egg Take		
Stock:	WALLACE R HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	165,000	6,600
Integrated/Segregated:	SEGREGATED	Planted	140,000	23,333

## **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	09/2024	10/2024	WALLACE R HATCHERY	165,000	25.0	6,600	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	05/2025	140,000	6.0	23,333	JUVENILE	SKYKOMISH R 07.0012	AD	

Memo: Program implementation is dependent on legal authority and funding. Volitional release begins April 15th.

# **REITER PONDS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH PUGET SOUND

Brood Year:	2025 Steelhead			Total #	Total Pounds
Species: Run:	Summer		Egg Take	145,000	
Stock:	SKYKOMISH R-SF STOCK		Shipping		
Brood Origin:	WILD		Received		
Integrated/Segregated:	INTEGRATED		Planted	116,000	11,600
Estimated Brood Data	<u>1</u>	l			
Egg Take Goal 145	000				
Estimated Transfer D	ata				
Shipped or Received Sta	rt Date End Date Facility	Number	FPP	Total Pounds	Life Stage

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	05/2026	116,000	10.0	11,600	JUVENILE	SKYKOMISH R 07.0012	AD+OT	$\checkmark$

Memo: Program implementation is dependent on legal authority and funding. Fish may be reared at Wallace River Hatchery.

## **REITER PONDS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH PUGET SOUND

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead	Fee Tales		
Run:	Winter	Egg Take		
Stock:	WALLACE R HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	165,000	6,600
Integrated/Segregated:	SEGREGATED	Planted	140,000	23,333

## **Estimated Brood Data**

Egg Take Goal

## Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	09/2025	10/2025	WALLACE R HATCHERY	165,000	25.0	6,600	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	05/2026	140,000	6.0	23,333	JUVENILE	SKYKOMISH R 07.0012	AD	

Memo: Program implementation is dependent on legal authority and funding. Volitional release begins April 15th.

## **RINGOLD SPRINGS HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTH CENTRAL WASHINGTON

Brood Year:	2024 Stockhood			Total #	Total Pounds
Species: Run:	Steelhead Summer	E	gg Take		
Stock:	RINGOLD HATCH STOCK	Sł	nipping		
Brood Origin:	HATCHERY	Re	eceived		
Integrated/Segregated:	SEGREGATED	PI	lanted	180,000	36,000
Estimated Brood Data Egg Take Goal	<u>a</u>				
Estimated Transfer D	ata				
Shipped or Received St	art Date End Date Facility	Number	FPP	Total Pounds	Life Stage

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	05/2025	180,000	5.0	36,000	JUVENILE	SPRINGS CR 36.0114	AD+RV	

Memo: Program implementation is dependent on legal authority and funding. On-station release at 4-8 fpp. Back fill from Wells if needed.

## **RINGOLD SPRINGS HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTH CENTRAL WASHINGTON

Brood Year:	2025			Total #	Total Pounds
Species: Run:	Steelhead Summer		Egg Take	300,000	
Stock:	RINGOLD HATCH STOCK		Shipping		
Brood Origin:	HATCHERY		Received		
Integrated/Segregated:	SEGREGATED		Planted	180,000	36,000
Estimated Brood Dat	<u>a</u>				
Egg Take Goal 300	,000				
Estimated Transfer D	ata				
Shipped or Received St	art Date End Date Facility	Number	FPP	Total Pounds	Life Stage

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	05/2026	180,000	5.0	36,000	JUVENILE	SPRINGS CR 36.0114	AD+RV	

Memo: Program implementation is dependent on legal authority and funding. On-station release at 4-8 fpp. Back fill from Wells if needed.

## SALMON R FISH CULTUR

QUINAULT DEPARTMENT OF NATURAL RESOURCES

### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead	I		Total Founds
Run:	Winter	Egg Take		
Stock:	QUINAULT R 21.0398	Shipping		
Brood Origin:	MIXED	Received	200,000	8,000
Integrated/Segregated:	INTEGRATED	Planted	200,000	40,000

## **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	09/2023	09/2023	QUINAULT NFH -COOK C	200,000	25.0	8,000	JUVENILE

# **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	170,000	5.0	34,000	JUVENILE	SALMON R 21.0139		
04/2025	04/2025	30,000	5.0	6,000	JUVENILE	SALMON R 21.0139	AD	$\checkmark$

Memo: Stock originated from Quinault Stock.

## SALMON R FISH CULTUR

QUINAULT DEPARTMENT OF NATURAL RESOURCES

### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead	c		
Run:	Winter	Egg Take		
Stock:	QUINAULT R 21.0398	Shipping		
Brood Origin:	MIXED	Received	200,000	8,000
Integrated/Segregated:	INTEGRATED	Planted	200,000	40,000

## **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	09/2024	09/2024	QUINAULT NFH -COOK C	200,000	25.0	8,000	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	170,000	5.0	34,000	JUVENILE	SALMON R 21.0139		
04/2026	04/2026	30,000	5.0	6,000	JUVENILE	SALMON R 21.0139	AD	$\checkmark$

Memo: Stock originated from Quinault Stock.

## **SKAMANIA HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

### SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead			
Run:	Summer	Egg Take		
Stock:	SKAMANIA HATCHERY	Shipping	54,000	4,269
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:	SEGREGATED	Planted	160,000	29,091

## **Estimated Brood Data**

Egg Take Goal

## Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	11/2024	11/2024	BEAVER CR HATCHERY	33,500	25.0	1,340	JUVENILE
Shipped	03/2025	03/2025	SOUTH FORK TOUTLE PONDS	20,500	7.0	2,929	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	05/2025	90,000	5.5	16,364	JUVENILE	KLICKITAT R 30.0002	AD	
04/2025	05/2025	70,000	5.5	12,727	JUVENILE	WASHOUGAL R 28.0159	AD	

Memo: Program implementation is dependent on legal authority and funding. Release 4/15 to 5/15.

## **SKAMANIA HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

### SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead	C T-lus		
Run:	Winter	Egg Take		
Stock:	KALAMA FALLS HATCHERY	Shipping	41,000	3,417
Brood Origin:	HATCHERY	Received	50,000	0
Integrated/Segregated:	SEGREGATED	Planted		

## **Estimated Brood Data**

Egg Take Goal

## Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility			Number	FPP	<b>Total Pounds</b>	Life Stage
Received	05/2024	05/2024	KALAMA FALL	S HATCH	IERY	50,000		0	EGGS EYED
Shipped	03/2025	03/2025	KLINELINE PO	NDS		41,000	12.0	3,417	JUVENILE
Estimated Release		lease	FPP Total F	Pounds	Life Stage	Release Site		Mark	Type Tagged

Memo: Program implementation is dependent on legal authority and funding. May backfill with Cowlitz stock.

## **SKAMANIA HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

### SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2024			Total #	Total Pounds
Species: Run:	Steelhead Winter		Egg Take		
Stock:	SKAMANIA HATCHERY		Shipping		
Brood Origin:	HATCHERY		Received		
Integrated/Segregated:	SEGREGATED		Planted	105,000	19,091
Estimated Brood Data	<u>l</u>				
Egg Take Goal					
Estimated Transfer D	ata				
Shipped or Received Sta	rt Date End Date Facility	Number	FPP	Total Pounds	Life Stage

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	20,000	5.5	3,636	JUVENILE	ROCK CR 29.0133	AD	
04/2025	04/2025	85,000	5.5	15,455	JUVENILE	WASHOUGAL R 28.0159	AD	

## **SKAMANIA HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

### SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead	Fee Tele		
Run:	Summer	Egg Take	360,000	
Stock:	SKAMANIA HATCHERY	Shipping	54,000	4,269
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:	SEGREGATED	Planted	160,000	29,091

## **Estimated Brood Data**

Egg Take Goal 360,000

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	11/2025	11/2025	BEAVER CR HATCHERY	33,500	25.0	1,340	JUVENILE
Shipped	03/2026	03/2026	SOUTH FORK TOUTLE PONDS	20,500	7.0	2,929	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	05/2026	90,000	5.5	16,364	JUVENILE	KLICKITAT R 30.0002	AD	
04/2026	05/2026	70,000	5.5	12,727	JUVENILE	WASHOUGAL R 28.0159	AD	

Memo: Program implementation is dependent on legal authority and funding. Release 4/15 to 5/15.

## **SKAMANIA HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

### SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead	с т.		. otal i otalita
Run:	Winter	Egg Take		
Stock:	KALAMA FALLS HATCHERY	Shipping	41,000	3,417
Brood Origin:	HATCHERY	Received	50,000	0
Integrated/Segregated:	SEGREGATED	Planted		

## **Estimated Brood Data**

Egg Take Goal

## Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility			Number	FPP	Total Pounds	Life Stage
Received	05/2025	05/2025	KALAN	MA FALLS HATCI	HERY	50,000		0	EGGS EYED
Shipped	03/2026	03/2026	KLINE	LINE PONDS		41,000	12.0	3,417	JUVENILE
Estimated Release		lease	FPP	Total Pounds	Life Stage	Release Site		Mark	Type Tagged

Memo: Program implementation is dependent on legal authority and funding. May backfill with Cowlitz stock.

### **SKAMANIA HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2025	Γ		Total #	Total Pounds	
Species:	Steelhead Winter	E	gg Take	157,700		
Run: Stock:	SKAMANIA HATCHERY	S	hipping			
Brood Origin:	HATCHERY	R	leceived			
Integrated/Segregated:	SEGREGATED	Ρ	lanted	105,000	19,091	
Estimated Brood Data	<u>l</u>				1	
Egg Take Goal 157	700					
Estimated Transfer D	<u>ata</u>					
Shipped or Received Sta	rt Date End Date Facility	Number	FPP	Total Pounds	Life Stage	

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	20,000	5.5	3,636	JUVENILE	ROCK CR 29.0133	AD	
04/2026	04/2026	85,000	5.5	15,455	JUVENILE	WASHOUGAL R 28.0159	AD	

## SKOOKUMCHUCK DAM

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead	с т.		
Run:	Winter-Late	Egg Take		
Stock:	SKOOKUMCHUCK 23.0761	Shipping		
Brood Origin:	MIXED	Received	90,000	2,250
Integrated/Segregated:	INTEGRATED	Planted	75,000	12,500

## **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	09/2024	09/2024	SKOOKUMCHUCK HATCHERY	90,000	40.0	2,250	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	05/2025	75,000	6.0	12,500	JUVENILE	SKOOKUMCHUCK 23.0761	AD	

## SKOOKUMCHUCK DAM

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead	с т.	····	
Run:	Winter-Late	Egg Take		
Stock:	SKOOKUMCHUCK 23.0761	Shipping		
Brood Origin:	MIXED	Received	90,000	2,250
Integrated/Segregated:	INTEGRATED	Planted	75,000	12,500

## **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	09/2025	09/2025	SKOOKUMCHUCK HATCHERY	90,000	40.0	2,250	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	05/2026	75,000	6.0	12,500	JUVENILE	SKOOKUMCHUCK 23.0761	AD	

## SKOOKUMCHUCK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead	I	····	Total Total a
Run:	Winter-Late	Egg Take		
Stock:	SKOOKUMCHUCK 23.0761	Shipping	123,000	5,917
Brood Origin:	MIXED	Received		
Integrated/Segregated:	INTEGRATED	Planted		

## **Estimated Brood Data**

Egg Take Goal

## Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility			Number	FPP	Total Pounds	Life Stage	
Shipped	09/2024	09/2024	SKOOK	UMCHUCK DAM		90,000	40.0	2,250	JUVENIL	Æ
Shipped	02/2025	02/2025	EIGHT (	CK/UPR CHEHAL	I	33,000	9.0	3,667	JUVENIL	Æ
Estimated Release		lease	FPP	Total Pounds	Life Stage	Release Site		Mark	Туре	Tagged

## SKOOKUMCHUCK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead	Faa Taka		
Run:	Winter-Late	Egg Take	250,000	
Stock:	SKOOKUMCHUCK 23.0761	Shipping	158,000	5,917
Brood Origin:	MIXED	Received		
Integrated/Segregated:	INTEGRATED	Planted		

## **Estimated Brood Data**

Egg Take Goal 250,000

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility		Number	FPP	<b>Total Pounds</b>	Life Stage	
Shipped	02/2025	02/2025	CARLISLE LK PROJECT		35,000		0	EGGS EYED	
Shipped	09/2025	09/2025	SKOOKUMCHUCK DAM		90,000	40.0	2,250	JUVENILE	
Shipped	02/2026	02/2026	EIGHT CK/UPR CHEHALI		33,000	9.0	3,667	JUVENILE	
Estimated Release Data									
Start Date End Dat	e Num Re	lease	FPP Total Pounds	Life Stage	Release Site		Mark	Гуре Tagged	

# SOOS CREEK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH PUGET SOUND

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead	c		Total Total
Run:	Summer	Egg Take		
Stock:	SOOS CREEK HATCH	Shipping		
Brood Origin:	HATCHERY	Received	55,000	5,500
Integrated/Segregated:	SEGREGATED	Planted	50,000	6,250

## **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	02/2025	02/2025	ICY CR HATCHERY	55,000	10.0	5,500	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	05/2025	50,000	8.0	6,250	JUVENILE	BIG SOOS CR 09.0072	AD	

Memo: Program implementation is dependent on legal authority and funding. Release start on April 15th.

## SOOS CREEK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH PUGET SOUND

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead	с т.		
Run:	Winter-Late	Egg Take		
Stock:	GREEN R NATIVE (9)	Shipping	58,000	193
Brood Origin:	MIXED	Received		
Integrated/Segregated:	INTEGRATED	Planted		

## **Estimated Brood Data**

Egg Take Goal

## Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility			Number	FPP	<b>Total Pounds</b>	Life Stage	2
Shipped	06/2024	06/2024	PALMEI	R HATCHERY		58,000	300.0	193	JUVENIL	ĿE
Estimated Releas	e Data									
Start Date End Da		lease	FPP	Total Pounds	Life Stage	Release Site		Mark	Гуре	Tagged

# SOOS CREEK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH PUGET SOUND

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead	Fag Taka		
Run:	Summer	Egg Take	180,000	
Stock:	SOOS CREEK HATCH	Shipping	130,000	520
Brood Origin:	HATCHERY	Received	55,000	5,500
Integrated/Segregated:	SEGREGATED	Planted	50,000	6,250

## **Estimated Brood Data**

Egg Take Goal 180,000

## **Estimated Transfer Data**

Shipped or Received	or Received Start Date End Date		Facility Numb		FPP	Total Pounds	Life Stage
Shipped	04/2025	04/2025	PALMER HATCHERY	130,000	250.0	520	JUVENILE
Received	02/2026	02/2026	ICY CR HATCHERY	55,000	10.0	5,500	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	05/2026	50,000	8.0	6,250	JUVENILE	BIG SOOS CR 09.0072	AD	

Memo: Program implementation is dependent on legal authority and funding. Release start on April 15th.

## SOOS CREEK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH PUGET SOUND

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead	Fag Taka		
Run:	Winter-Late	Egg Take	70,000	
Stock:	GREEN R NATIVE (9)	Shipping	58,000	193
Brood Origin:	MIXED	Received		
Integrated/Segregated:	INTEGRATED	Planted		
Estimated Brood Data	<u>a</u>	L		

Egg Take Goal70,000

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility			Number	FPP	<b>Total Pounds</b>	Life Stage		
Shipped	06/2025	06/2025	PALMER	RHATCHERY		58,000	300.0	193	JUVENILI	E	
Estimated Releas	Estimated Release Data										
Start Date End Da	te Num Re	lease	FPP	Total Pounds	Life Stage	Release Site		Mark	Гуре	Tagged	

# SOUTH FORK TOUTLE PONDS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead			
Run:	Summer	Egg Take		
Stock:	SKAMANIA HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	20,500	2,929
Integrated/Segregated:	SEGREGATED	Planted	20,000	3,636

## **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	03/2025	03/2025	SKAMANIA HATCHERY	20,500	7.0	2,929	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	20,000	5.5	3,636	JUVENILE	TOUTLE R-SF 26.0248	AD	

Memo: Program implementation is dependent on legal authority and funding. Release 4/15 to 5/15.

# SOUTH FORK TOUTLE PONDS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead			
Run:	Summer	Egg Take		
Stock:	SKAMANIA HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	20,500	2,929
Integrated/Segregated:	SEGREGATED	Planted	20,000	3,636

## **Estimated Brood Data**

Egg Take Goal

## Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	03/2026	03/2026	SKAMANIA HATCHERY	20,500	7.0	2,929	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	20,000	5.5	3,636	JUVENILE	TOUTLE R-SF 26.0248	AD	

Memo: Program implementation is dependent on legal authority and funding. Release 4/15 to 5/15.

### ST. MARY'S POND

#### COLVILLE TRIBE

#### NORTH CENTRAL WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead			Total Totaldo
Run:	Summer	Egg Take		
Stock:	OKANOGAN R 49.0019	Shipping		
Brood Origin:	WILD	Received	12,500	1,563
Integrated/Segregated:	INTEGRATED	Planted	12,500	2,083

## **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	03/2025	03/2025	WELLS HATCHERY	12,500	8.0	1,563	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	12,500	6.0	2,083	JUVENILE	OMAK CR 49.0138		

Memo:

### ST. MARY'S POND

#### COLVILLE TRIBE

#### NORTH CENTRAL WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead			Total Totaldo
Run:	Summer	Egg Take		
Stock:	OKANOGAN R 49.0019	Shipping		
Brood Origin:	WILD	Received	12,500	1,563
Integrated/Segregated:	INTEGRATED	Planted	12,500	2,083

## **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	03/2026	03/2026	WELLS HATCHERY	12,500	8.0	1,563	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	12,500	6.0	2,083	JUVENILE	OMAK CR 49.0138		

Memo:

## **TOKUL CR HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH PUGET SOUND

Brood Year:	2024			Total #	Total Pounds
Species:	Steelhead	Fac	g Take		
Run:	Winter				
Stock:	TOKUL CREEK HATCHERY STOCK	Shi	pping		
Brood Origin:	HATCHERY	ceived			
Integrated/Segregated:	SEGREGATED	nted	74,000	14,800	
Estimated Brood Dat	<u>a</u>				
Egg Take Goal					
Estimated Transfer D	<u>ata</u>				
Shipped or Received St	art Date End Date Facility	Number	FPP	Total Pounds	Life Stage

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	05/2025	74,000	5.0	14,800	JUVENILE	SNOQUALMIE R 07.0219	AD	

Memo: Program implementation is dependent on legal authority and funding. Volitional release begins April 15th. If the number of adults returning to Tokul Creek do not meet broodstock needs, eggs collected at Wallace River or Reiter Ponds hatcheries may be transferred and used to meet spawning goals.

## **TOKUL CR HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH PUGET SOUND

Brood Year:	2025 Steally and		Tota	Il # Total Pounds
Species:	Steelhead	Egg	Take 120,	000
Run:	Winter			
Stock:	TOKUL CREEK HATCHERY STOCK	Ship	oing	
Brood Origin:	HATCHERY	Rece	ived	
Integrated/Segregated:	SEGREGATED	Plan	ted 74,0	14,800
Estimated Brood Data Egg Take Goal 120	<u>a</u> ,000			
Estimated Transfer D	ata			
Shipped or Received St	art Date End Date Facility	Number	FPP Total	Pounds Life Stage

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	05/2026	74,000	5.0	14,800	JUVENILE	SNOQUALMIE R 07.0219	AD	

Memo: Program implementation is dependent on legal authority and funding. Volitional release begins April 15th. If the number of adults returning to Tokul Creek do not meet broodstock needs, eggs collected at Wallace River or Reiter Ponds hatcheries may be transferred and used to meet spawning goals.

# VANCOUVER HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

### SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead			Total Total a
Run:	Summer	Egg Take		
Stock:	SKAMANIA HATCHERY	Shipping	115,000	1,533
Brood Origin:	HATCHERY	Received	125,000	0
Integrated/Segregated:	SEGREGATED	Planted		

## **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility			Number	FPP	Total Pounds	Life Stage
Received	01/2024	01/2024	SKAMAN	NIA HATCHERY		125,000		0	EGGS EYED
Shipped	06/2024	06/2024	SKAMAN	NIA HATCHERY		115,000	75.0	1,533	JUVENILE
Estimated Release Data Start Date End Date Num Release FPP Total Pounds Life Stage Release Site								Mark <sup>-</sup>	Гуре Tagged

Memo: Program implementation is dependent on legal authority and funding. May backfill with Sandy stock.

# VANCOUVER HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

### SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead			
Run:	Summer	Egg Take		
Stock:	SKAMANIA HATCHERY	Shipping	115,000	1,533
Brood Origin:	HATCHERY	Received	125,000	0
Integrated/Segregated:	SEGREGATED	Planted		

## **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility			Number	FPP	<b>Total Pounds</b>	Life Stage	
Received	01/2025	01/2025	SKAMA	NIA HATCHERY		125,000		0	EGGS EYED	
Shipped	06/2025	06/2025	SKAMA	NIA HATCHERY	115,000	75.0	1,533	JUVENILE		
Estimated Release Data										
Start Date End Dat	te Num Re	lease	FPP	Total Pounds	Life Stage	Release Site		Mark	Type Taggeo	d

Memo: Program implementation is dependent on legal authority and funding. May backfill with Sandy stock.

# WALLACE R HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH PUGET SOUND

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead	Fee Teles		
Run:	Winter	Egg Take		
Stock:	WALLACE R HATCHERY	Shipping	165,000	6,600
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:	SEGREGATED	Planted	27,600	4,600

## **Estimated Brood Data**

Egg Take Goal

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	09/2024	10/2024	REITER PONDS	165,000	25.0	6,600	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	05/2025	27,600	6.0	4,600	JUVENILE	WALLACE R 07.0940	AD	

Memo: Program implementation is dependent on legal authority and funding. Volitional release begins April 15th.

## WALLACE R HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH PUGET SOUND

Brood Year: 202	25		Total #	Total Pounds
Species: Ste	eelhead	Fee Talua		
Run: Wi	Inter	Egg Take	240,000	
Stock: WA	ALLACE R HATCHERY	Shipping	165,000	6,600
Brood Origin: HA	ATCHERY	Received		
Integrated/Segregated: SEG	GREGATED	Planted	27,600	4,600

# **Estimated Brood Data**

Egg Take Goal 240,000

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	09/2025	10/2025	REITER PONDS	165,000	25.0	6,600	JUVENILE

# **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	05/2026	27,600	6.0	4,600	JUVENILE	WALLACE R 07.0940	AD	

Memo: Program implementation is dependent on legal authority and funding. Volitional release begins April 15th.

### WELLS HATCHERY

DOUGLAS COUNTY PUD

#### NORTH CENTRAL WASHINGTON

Brood Year:	2024				Total #	Total Pounds
Species: Run:	Steelhead Summer			Egg Take		
Stock:	WELLS HATCHERY			Shipping		
Brood Origin:	HATCHERY			Received		
Integrated/Segregated:	SEGREGATED			Planted	200,000	33,333
Estimated Brood Data Egg Take Goal	<u>a</u>					
Estimated Transfer D Shipped or Received St	<u>ata</u> art Date End Date	Facility	Number	FPP	Total Pounds	Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	200,000	6.0	33,333	JUVENILE	COLUMBIA R - GENERAL	AD	

Memo: Program implementation is dependent on legal authority and funding. Adults may be shipped to Ringold Springs for backup/shortage.

### WELLS HATCHERY

DOUGLAS COUNTY PUD

#### NORTH CENTRAL WASHINGTON

Brood Year: Species: Run:	2024 Steelhead Summer			Egg Take	Total #	Total Pounds
Stock:	METHOW R 48.0002	2		Shipping		
Brood Origin:	HATCHERY			Received		
Integrated/Segregated:	SEGREGATED			Planted	77,000	12,833
Estimated Brood Data Egg Take Goal	<u>1</u>					
Estimated Transfer D	ata					
Shipped or Received Sta	art Date End Date	Facility	Number	FPP	Total Pounds	Life Stage

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	77,000	6.0	12,833	JUVENILE	METHOW R 48.0002	AD	

## WELLS HATCHERY

DOUGLAS COUNTY PUD

#### NORTH CENTRAL WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead	c		Total Total a
Run:	Summer	Egg Take		
Stock:	METHOW R 48.0002	Shipping	40,000	6,666
Brood Origin:	WILD	Received		
Integrated/Segregated:	INTEGRATED	Planted		

# Estimated Brood Data

Egg Take Goal

# Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility			Number	FPP	Total Pounds	Life Stage	
Shipped	04/2025	04/2025	WINTHR	ROP NFH		20,000	6.0	3,333	JUVENIL	E
Shipped	04/2025	04/2025	WINTHR	ROP NFH		20,000	6.0	3,333	JUVENIL	E
Estimated Release		1	500	Tabal Davida	116-01	Delesse Cite		B.G. J.J.	<b>-</b>	<b>T</b>
Start Date End Dat	e Num Re	lease	FPP	Total Pounds	Life Stage	Release Site		Mark	Туре	Tagged

### WELLS HATCHERY

DOUGLAS COUNTY PUD

#### NORTH CENTRAL WASHINGTON

Estimated Transfer D Shipped or Received Sta	ata art Date End Date	Facility	Number	FPP	Total Pounds	Life Stage
Estimated Transfor D	ata					
Egg Take Goal						
Estimated Brood Data	<u>a</u>					
Integrated/Segregated:	INTEGRATED			Planted	20,000	3,333
Brood Origin:	WILD			Received		
Stock:	TWISP R 48.0374			Shipping		
Run:	Summer			Egg Take		
Species:	Steelhead				Total #	Total Pounds
Brood Year:	2024					<b>T</b> . 15 1

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	20,000	6.0	3,333	JUVENILE	TWISP R 48.0374		

### WELLS HATCHERY

DOUGLAS COUNTY PUD

#### NORTH CENTRAL WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead	5 T I		
Run:	Summer	Egg Take		
Stock:	OKANOGAN R 49.0019	Shipping		
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:	SEGREGATED	Planted	75,000	9,376
Estimated Brood Data	<u>a</u>			
Egg Take Goal				

Shipped of Received Start Date End Date Facility Number FPP Total Pounds Life Stage	Shipped or Received Start Date		Facility	Number	FPP	Total Pounds	Life Stage	
---	--------------------------------	--	----------	--------	-----	--------------	------------	--

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	5,000	8.0	625	JUVENILE	AENEAS CR 49.0243	AD	
04/2025	04/2025	12,500	8.0	1,563	JUVENILE	ANTOINE CREEK	AD	$\checkmark$
04/2025	04/2025	37,500	8.0	4,688	JUVENILE	SALMON CR 49.0079	AD	$\checkmark$
04/2025	04/2025	20,000	8.0	2,500	JUVENILE	SIMILKAMEEN R 490325	AD	$\checkmark$

### WELLS HATCHERY

DOUGLAS COUNTY PUD

#### NORTH CENTRAL WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead			Total Total
Run:	Summer	Egg Take		
Stock:	OKANOGAN R 49.0019	Shipping	12,500	1,563
Brood Origin:	WILD	Received		
Integrated/Segregated:	INTEGRATED	Planted	12,500	1,563

## Estimated Brood Data

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	03/2025	03/2025	ST. MARY'S POND	12,500	8.0	1,563	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	12,500	8.0	1,563	JUVENILE	OMAK CR 49.0138		

### WELLS HATCHERY

DOUGLAS COUNTY PUD

#### NORTH CENTRAL WASHINGTON

Brood Year:	2025 Staally as d				Total #	Total Pounds
Species: Run:	Steelhead Summer			Egg Take	230,000	
Stock:	WELLS HATCHERY			Shipping		
Brood Origin:	HATCHERY			Received		
Integrated/Segregated:	SEGREGATED			Planted	200,000	33,333
Estimated Brood Dat	<u>a</u>					
Egg Take Goal 230	,000					
Estimated Transfer D	ata					
Shipped or Received St	art Date End Date Fa	cility	Number	FPP	Total Pounds	Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	200,000	6.0	33,333	JUVENILE	COLUMBIA R - GENERAL	AD	

Memo: Program implementation is dependent on legal authority and funding. Adults may be shipped to Ringold Springs for backup/shortage.

### WELLS HATCHERY

DOUGLAS COUNTY PUD

#### NORTH CENTRAL WASHINGTON

Brood Year:	2025 Stockbood		Total #	Total Pounds
Species: Run:	Steelhead Summer	Egg	ake 90,000	
Stock:	METHOW R 48.0002	Ship	ping	
Brood Origin:	HATCHERY	Rece		
Integrated/Segregated:	SEGREGATED	Plan	ed 77,000	12,833
Estimated Brood Dat	<u>a</u>			
Egg Take Goal 90,0	000			
Estimated Transfer D	ata			
Shipped or Received St	art Date End Date Facility	Number	FPP Total Pound	s Life Stage

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	77,000	6.0	12,833	JUVENILE	METHOW R 48.0002	AD	

### WELLS HATCHERY

DOUGLAS COUNTY PUD

#### NORTH CENTRAL WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead	с т.		Total Founds
Run:	Summer	Egg Take		
Stock:	METHOW R 48.0002	Shipping	20,000	3,333
Brood Origin:	WILD	Received	25,000	0
Integrated/Segregated:	INTEGRATED	Planted		

## **Estimated Brood Data**

Egg Take Goal

# Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility			Number	FPP	<b>Total Pounds</b>	Life Stage
Received	06/2025	06/2025	WINTHR	OP NFH		25,000		0	EGGS EYED
Shipped	04/2026	04/2026	WINTHR	OP NFH		20,000	6.0	3,333	JUVENILE
Estimated Release		loaco	FPP	Total Pounds	Life Stage	Release Site		Mark	Type Tagged

### WELLS HATCHERY

DOUGLAS COUNTY PUD

#### NORTH CENTRAL WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead	Fac Take		
Run:	Summer	Egg Take		
Stock:	TWISP R 48.0374	Shipping		
Brood Origin:	WILD	Received	25,000	0
Integrated/Segregated:	INTEGRATED	Planted	20,000	3,333

## **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	06/2025	06/2025	WINTHROP NFH	25,000		0	EGGS EYED

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	20,000	6.0	3,333	JUVENILE	TWISP R 48.0374		$\checkmark$

### WELLS HATCHERY

DOUGLAS COUNTY PUD

#### NORTH CENTRAL WASHINGTON

Brood Year:	2025			Total #	Total Pounds
Species: Run:	Steelhead Summer		Egg Take	100,000	
Stock:	OKANOGAN R 49.0019		Shipping		
Brood Origin:	HATCHERY		Received		
Integrated/Segregated:	SEGREGATED		Planted	75,000	9,376
Estimated Brood Data	<u>1</u>				
Egg Take Goal100	000				
Estimated Transfer D	ata				
Shipped or Received Sta	rt Date End Date Facility	Number	FPP	Total Pounds	Life Stage

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	5,000	8.0	625	JUVENILE	AENEAS CR 49.0243	AD	$\checkmark$
04/2026	04/2026	12,500	8.0	1,563	JUVENILE	ANTOINE CREEK	AD	$\checkmark$
04/2026	04/2026	37,500	8.0	4,688	JUVENILE	SALMON CR 49.0079	AD	$\checkmark$
04/2026	04/2026	20,000	8.0	2,500	JUVENILE	SIMILKAMEEN R 490325	AD	$\checkmark$

## WELLS HATCHERY

DOUGLAS COUNTY PUD

#### NORTH CENTRAL WASHINGTON

2025		Total #	Total Pounds
Steelhead	Coo Talua		
Summer	Egg Таке	30,000	
OKANOGAN R 49.0019	Shipping	12,500	1,563
WILD	Received		
INTEGRATED	Planted	12,500	1,563
	Steelhead Summer OKANOGAN R 49.0019 WILD	Steelhead Egg Take   Summer Shipping   OKANOGAN R 49.0019 Received   WILD Received	SteelheadEgg Take30,000SummerOKANOGAN R 49.0019Shipping12,500WILDReceivedReceivedStatement

# Estimated Brood Data

Egg Take Goal 30,000

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	03/2026	03/2026	ST. MARY'S POND	12,500	8.0	1,563	JUVENILE

# **Estimated Release Data**

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	12,500	8.0	1,563	JUVENILE	OMAK CR 49.0138		

# WHITEHORSE POND

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH PUGET SOUND

Brood Year: Species:	2024 Steelhead				Total #	Total Pounds
Run:	Winter			Egg Take		
Stock:	WHITEHORSE POND			Shipping		
Brood Origin:	HATCHERY			Received		
Integrated/Segregated:	SEGREGATED			Planted	130,000	21,667
Estimated Brood Data Egg Take Goal	<u>a</u>					
Estimated Transfer D	<u>ata</u>					
Shipped or Received St	art Date End Date	Facility	Number	FPP	Total Pounds	Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	05/2025	130,000	6.0	21,667	JUVENILE	STILLAGUAMISH R -NF	AD	

Memo: Program implementation is dependent on legal authority and funding. Volitional release begins April 15th.

# WHITEHORSE POND

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### NORTH PUGET SOUND

Shipped or Received Sta	art Date End Date	Facility	Number	FPP	Total Pounds	Life Stage
Estimated Transfer D	ata					
Egg Take Goal 200	,000					
Estimated Brood Data	<u>a</u>					
Integrated/Segregated:	SEGREGATED			Planted	130,000	21,667
Brood Origin:	HATCHERY			Received		
Stock:	WHITEHORSE POND			Shipping		
Run:	Winter			Egg Take	200,000	
Species:	Steelhead				Total #	Total Pounds
Brood Year:	2025					

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	05/2026	130,000	6.0	21,667	JUVENILE	STILLAGUAMISH R -NF	AD	

Memo: Program implementation is dependent on legal authority and funding. Volitional release begins April 15th.

# WINTHROP NFH

U.S. FISH AND WILDLIFE SERVICE

#### NORTH CENTRAL WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead			
Run:	Summer	Egg Take		
Stock:	METHOW R 48.0002	Shipping	4,000	0
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:	SEGREGATED	Planted	50,000	7,143

## Estimated Brood Data

Egg Take Goal

# **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	06/2024	06/2024	MANCHESTER	4,000		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	50,000	7.0	7,143	JUVENILE	METHOW R 48.0002	AD	$\checkmark$

Memo:

# WINTHROP NFH

U.S. FISH AND WILDLIFE SERVICE

#### NORTH CENTRAL WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead	C T-l -		
Run:	Summer	Egg Take		
Stock:	METHOW R 48.0002	Shipping		
Brood Origin:	WILD	Received	20,000	3,333
Integrated/Segregated:	INTEGRATED	Planted	40,000	6,667

## **Estimated Brood Data**

Egg Take Goal

# **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	04/2025	04/2025	WELLS HATCHERY	20,000	6.0	3,333	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	40,000	6.0	6,667	JUVENILE	METHOW R 48.0002		

Memo:

# WINTHROP NFH

U.S. FISH AND WILDLIFE SERVICE

#### NORTH CENTRAL WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead	Faa Taka		
Run:	Summer	Egg Take	60,000	
Stock:	METHOW R 48.0002	Shipping	4,000	0
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:	SEGREGATED	Planted	50,000	7,143

# Estimated Brood Data

Egg Take Goal 60,000

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	06/2025	06/2025	MANCHESTER	4,000		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2027	04/2027	50,000	7.0	7,143	JUVENILE	METHOW R 48.0002	AD	

Memo:

# WINTHROP NFH

U.S. FISH AND WILDLIFE SERVICE

#### NORTH CENTRAL WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead	Cee Telve		
Run:	Summer	Egg Take	30,000	
Stock:	METHOW R 48.0002	Shipping	25,000	0
Brood Origin:	WILD	Received	20,000	3,333
Integrated/Segregated:	INTEGRATED	Planted	40,000	6,667

### **Estimated Brood Data**

Egg Take Goal 30,000

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	06/2025	06/2025	WELLS HATCHERY	25,000		0	EGGS EYED
Received	04/2026	04/2026	WELLS HATCHERY	20,000	6.0	3,333	JUVENILE

# **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	40,000	6.0	6,667	JUVENILE	METHOW R 48.0002		

Memo:

# WINTHROP NFH

U.S. FISH AND WILDLIFE SERVICE

#### NORTH CENTRAL WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead	с т.		
Run:	Summer	Egg Take		
Stock:	TWISP R 48.0374	Shipping	25,000	0
Brood Origin:	WILD	Received		
Integrated/Segregated:	INTEGRATED	Planted		

# Estimated Brood Data

Egg Take Goal

# **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage	
Shipped	06/2025	06/2025	WELLS HATCHERY	25,000		0	EGGS EYED	
Estimated Release Data								

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged

Memo: